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English Language & Literature (184)
Sample Question Paper (Term 1)
Class - X

Time: 90 Minutes Max. Marks 40
General Instructions:

1. The Question Paper contains THREE sections.
2. Section A-READING has 18 questions. Attempt a total of 14 questions, as per
specific instructions for each question.

3. Section B-WRITING & GRAMMAR has 12 questions. Attempt a total of 10 questions, as per
specific instructions for each question.

4. Section C-LITERATURE has 30 questions. Attempt 26 questions, as per specific instructions
for each question.

5. All questions carry equal marks.

6. There is no negative marking.

READING

I. Read the passage given below.

Nature is our mother, our first teacher. The greatest lesson that she teaches us is to
maintain an equilibrium in life. We learn to maintain composure through our joys, sorrows
and fears. In fact, there are a thousand lessons that nature can teach us, provided we look
for them.

. With time, a sapling grows into a full-grown tree; something so tiny and delicate develops
into a strong tree capable of supporting others. No matter how tall it grows, how much it
may flourish, or how many animals and birds it may support, its roots are firmly buried from
where it once rose. That's a lesson - to keep ourselves grounded, respect and embrace
our roots, and give something back to those humble beginnings that nurtured usinto who
we are.

1. Then there is the message of peaceful coexistence. ‘Il am because we are.” Nature
provides every creature a chance to exist. However, the existence of one creature or
being depends on the existence of the other. The tiger eats the antelope; without the
antelope, the tiger wouldn’t survive. Likewise, without tigers, the over-abundance of
antelopes would cause them to starve to death.

V. I wonder if you have noticed that when birds or squirrels see a predator, they give out an
alarm call to their fellow creatures, of the lurking danger. They put themselves in danger
to save the lives of others. Many animals, like the salmon, usually die after they spawn,
but this doesn’t stop them. One life extinguished for the betterment of others is a small
price to pay.

V. The snow melts in the warmth of spring to give birth to fresh green leaves. In autumn these
leaves age into shades of gold only to be buried in the cold grave of winter. Changeis
inevitable; the sooner we embrace this, the better it is for us. We must also understand that
even in pain there is growth. If you cut a hole in the tree, it will grow around it. No matter
what may come in its way, a river will continue to flow. Similarly, no matter what grief may
break your heart, nature teaches us that life goes on.
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V1. Keep in mind life isn’t about making lists and trying to be one step ahead of others. Life is
to live. Take a break-stop being a workaholic, and smell the roses, do whatever makes you
feel happy and most of all spend some time with nature to pick up invaluable lessons.

(419 words)
Source: https://missionself.com/important-lessons-we-can-learn-from-nature

Based on your understanding of the passage, answer any eight out of the ten
guestions by choosing the correct option.

Q.1 According to the author, what, from the following, is the greatest lesson being taught by
nature?

A. balanced in our emotions.
B. partial to joys in life.

C. afraid of unhappiness.

D. indifferent to fears.

Q.2 Select the option that suitably completes the dialogue with reference to paragraph Il

Jai: I've done well for myself in this school. I'm the best they have. | can get admission
anywhere. This is my moment!
Sid: Congratulations! Just remember, we should ...,

A. become strong despite our weakness.

B. be kind and supportive towards everyone.

C. respect the origins from where we have grown.
D. nurture ourselves well from the beginning.

Q.3 Choose the option that best conveys the message in - / am because we are.’

A. Tigers are dependent on antelope

B. Antelope are dependent on tigers

C. Humans are dependent on animals
D. Everyone is dependent on each other

Q.4 What qualities do the birds and squirrels display when they warn others of
possible danger? Choose one option from the following:

A. Observation skills and alertness.

B. Tendency to get easily frightened.

C. Selfless assistance to help others.
D. Determination to protect themselves.

Q.5 Select the option with the underlined words that can suitably replace lurking (paragraph V).

A. The policeman pulled up the person who was wandering aimlessly through the city.

B. The thief knew that remaining hidden was the best strategy to avoid being caught.

C. The policeman was caught on camera while pouncing with force, to grab the fleeing culprit.
D. The thief was walking boldly into the house thinking it was devoid of residents.
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Q.6 A Portmanteau words like smog (smoke + fog), is a blend of words in which parts of
multiple words are combined into a new word.

From the options given below, select a Portmanteau word that appears in the para VI.

A. coexistence
B. workaholic
C. full-grown
D. flourish

Q.7Select the qualities from paragraph Ill, that the author wants us to imbibe.

Being-

(1) acceptive
(2) passionate
(3) emotional
(4) resilient
(5) perceptive

A. (2), (4) and (5)
B. (1), (3) and (4)
C. (1), (4)and (5)
D. (3), (4) and (5)

Q.8 Which of the following is shown by the changing of seasons?

A. The beauty of nature.

B. Nature’s creativity.

C. All seasons are equal.
D. Nothing lasts forever.

Q.9 What does the writer advise, in paragraph VI?

A. Indulging in competition with others.
B. Making priority lists.

C. Taking life seriously.

D. Having free time for ourselves.

Q.10 Choose the option that lists the quote best expressing the central idea of the passage.

Nature: She pardons no mistakes. Her yea is yea, and her nay, nay. -Ralph Waldo Emerson
Look deep into nature, and then you will understand everything better. - A. Einstein

Nature never deceives us; it is we who deceive ourselves. -Jean Jacques Rousseau

All the ugliness of the world can best be forgotten in the beauty of nature! -Mehmet Murat

oow>

. Read the passage given below.

I.  Research from the Publishers Association has shown that films based on books take 44%
more at the box office revenue in the UK and 53% more worldwide than original
screenplays. The report explores what impact a book has when adapted for film and TV.
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I. The report reads: “Published material is the basis of 52% of top UK films in the last 10 years,
and accounts for an even higher share of revenue from these leading performers, at 61% of
UK box office gross and 65% of worldwide gross.” The Hollywood adaptation of“My Cousin
Rachel” was shown to have a significant impact on the sales of the Daphne Du Maurier thriller.
The sales of the book in 2017 alone accounted for 23% of all sales since 1992.

. The research suggests that adapted films tend to perform better, because films can

“leverage the popularity” of well-known books through an existing audience. Films
adapted from books also tend to have a richer, more fully-developed story to draw on.
In terms of TV adaptation, it was revealed that a quarter of dramas were based on literary
sources and attracted a 56% larger share of the audience than those based on original scripts.
Fourteen of the 35 high end series produced in the UK in the period between January and
September 2017 were based on books, compared to seven based on true stories or historical
events and five based on pre-existing films or TV stories.

IV. In the case of the 2016 BBC broadcast of “The Night Manager”, research revealed that
while the novel was in circulation for over 25 years, 82% of the copies it sold were in 2016
and 2017. Sales of the paperback edition remained strong in 2017 even after theseries
went off the air.

V. In conclusion, the report states that “there is a strong two-way relationship between
publishing and the wider creative economy, wherein a successful adaptation often has
spill-over effects and gives a substantial boost to the sales of the original book.”
(338 words)

Source: https://www.thebookseller.com/news/films-based-books-take-more-91m-more-globally-
original-scripts-825036

Based on your understanding of the passage, answer any six out of the eight questions
by choosing the correct option.

Q.11 The purpose of the research by Publishers Association was to study the . Choose the
correct option.

A. variety in films and TV shows.

B. impact of films on books.

C. choice of books for film-making.
D. connect between books and films.

Q.12 Select the option that is true for the two statements given below.
(1) The revenues generated at the box office have increased.
(2) Majority of the top films in the UK are based on published material.

A. (1) is the result of (2).

B. (1) is the reason for (2).
C. (1) is independent of (2).
D. (1) contradicts (2).

Q.13 Select the option that gives the correct meaning of the following statement.
“The sales of the book in 2017 alone accounted for 23% of all sales since 1992.”

4
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A. There were 23% higher sales in 2017 than previous years.
B. A major chunk of sales happened in 2017.

C. The sales were limited to 23% in 2017.

D. There were very few books sold in the previous years.

Q.14 According to the research, the films based on books have greater success because

A. people like to see the characters from the books on screen.
B. the films get the advantage of the fame of the books.

C. it takes less effort for people to watch films than read books.
D. the films get a ready-made script from the books.

Q.15 Select the option listing what the given sentence refers to.
‘Films adapted from books also tend to have a richer, more fully-developed story to draw on.’

(1) The plot and the storyline of such films are better.

(2) The characters are likely to be more vivid.

(3) The production of such films is meant for the rich and famous.
(4) The settings and costumes are adapted from the book.

(5) The making of such films require the author to write a sequel.

A. (1), (3) and (4)
B. (2), (3) and (5)
C. (1), (2) and (5)
D. (1), (2) and (4)

Q.16 On what from the following were the maximum TV serials in UK in the year 2017 based?

A. books.

B. historical stories.
C. original true stories.
D. previous films.

Q.17 This passage lists an example proving that TV dramas based on literary works
have

Select the correct option.

A. increased the immediate sales of the book

B. increased the sales of the book during the first screening
C. had no immediate impact on the sales of the book

D. had very little impact on the sales of the book

Q.18 Choose the correct option to answer the following:
According to paragraph V, ‘there is a two-way relationship between books and the screen’.

This is so because both

A. revolve around the same stories.

B. cater to an audience with the same taste.
C. gain from each other’s popularity.

D. belong to the creative field.



Re-uploaded at Learnmate

GRAMMAR and WRITING

GRAMMAR
lll. Answer any five out of the six questions by selecting the most appropriate option for

each.

Q.19

Q.20

Q.21

Q.22

Q.23

Q.24

The hospital board clearly mentioned that you smoke in the hospital as itis a
health hazard for all.

cannot

must not
need not
might not

00w

There’s never petrol left after Rahul uses the car.
A. much

little

many

a little

Cow

| am taking driving lessons now. Hopefully, | my driving test by November.

will take

would pass
will have taken
will be taking

o0 w>

Which option displays the correct change of the following to reported speech?
Sunitha asked Venkat, “How much is the rent for your flat?”

Sunitha asked Venkat how much was his rent for flat.
Sunitha asked Venkat how much the rent for his flat was.
Sunita enquires from Venkat that how much rent he pays.
Sunita told Venkat how much the rent for his flat was.

OO0

Which option displays the correct change of the following to reported speech?
She said, “/ told Damanijit to send you an e-mail three days ago.”

A. She told that Damanijit had mailed you three days then.

B. She informed me that Damanijit has mailed me three days before.

C. She says that she has told Damanijit to send me an e-mail three days then.

D. She said that she had told Damanijit to send an e-mail to me three days before.

The dog under the chair before the children arrived.

has been hiding
was hid

have hid

had hidden

o0



WRITING
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IV. Answer any five out of the six questions given, with reference to the context below.

You are Debashree, a resident of Siliguri, Assam. You have to write a letter to the editor of a
national daily drawing attention towards the difficulty faced by differently-abled people at tourist

place

S.

Q.25 Select the option with relevant aspects that Debashree should select, for this letter.

(1) The newspaper’'s name

(2) Attached proof of the newspaper subscription

(3) Debashree’s address
(4) Formal tone
(5) Expected date of the letter’s receipt

A
B
C
D

Q.26 Select the appropriate subject for this letter.

A.
B.
C.
D.

. (1) and (5)
. (2), (3) and (4)
. (3)and (5)
. (1), (3)and (4)

Drawing attention towards differently-abled people

The Differently-abled: Neglected or Misunderstood?

Tourist places are an inconvenience to differently-abled people
Inconvenience Faced by the Differently-abled at Tourist Spots

Q.27 Which option should Debashree select, to elaborate on the difficulties faced

by thedifferently-abled?

¢ Absence of ramps for wheelchairs

A. | ¢ Unclean toilets

¢ High ticket-prices

¢ Unsuitable visiting timings

e Tourist guides untrained in
sign language

e Lack of braille-script
tourist pamphlets

¢ Absence of ramps for

C. wheelchairs

e Tourist guides untrained in sign
language

¢ Lack of braille-script tourist
pamphlets

e Unclean toilets
¢ High ticket-prices
¢ Unsuitable visiting timings

Q.28

Also, (ii)

Debashree shares some suggestions in her letter, to address the issue.
Select the option that helps her complete these suggestions, appropriately.
In my opinion, the media can play a pivotal role in transforming people’s (i)

against negligence to the needs of the differently-abled, at the

tourist spots, shall go a long way in bringing about a positive change.

A
B
C
D

. (i) beliefs and traditions (ii) composing songs

. (i) perceptions and attitudes (ii) cautioning the authorities

. (i) preferences (ii) protesting

. (i) interactions (ii) keeping minimum interference
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Q.29 Select the option that correctly justifies the choice of the concluding portion of this letter.

(1) 1 expect the authorities 1o take actions on this issue. Please post my thoughts in your newspaper.
(2) 1 hope my views get published in the columns of vour newspaper so that this issue may garner

more public support and awareness.

Yes, to Option (1) because of the authoritative tone.

No, to Option (1) because of the informal tone.

Yes, to Option (2) because of the tone of polite expectation.
No, to Option (2) because of the certainty in the tone.

oCow>

Q.30 Select the option that completes the concluding line appropriately.

| hope that my letter will ..................

help spread awareness about the issue.
lead to action against all authorities responsible, at tourist spots.
improve circulation of the national daily.
result in positive reviews by the readers.

Cow>

LITERATURE

This section has sub-sections -V, VI, VII, VIIl & IX. There are a total of 30 questions
in this section. Attempt any 26 questions from the sub-sections V to IX.

V. Read the given extract to attempt the questions that follow:

But the decades of oppression and brutality had another unintended effect, and that was that it
produced the Oliver Tambos, the Walter Sisulus, the Chief Luthulis, the Yusuf Dadoos, the Bram
Fischers, the Robert Sobukwes of our times — men of such extraordinary courage, wisdom and
generosity that their like may never be known again. Perhaps it requires such depths of oppression
to create such heights of character. My country is rich in the minerals and gems that lie beneath
its soil, but | have always known that its greatest wealth is its people, finer and truer than the
purest diamonds. It is from these comrades in the struggle that | learned the meaning ofcourage.
Time and again, | have seen men and women risk and give their lives for an idea.

(Nelson Mandela: Long Walk to Freedom)
Q.31 What was the unintended effect of the long oppression? Choose the correct option.

It made the people indifferent to injustice.

It made the people reject oppression.

It influenced a generation to fight against injustice.
It made people accept their oppression.

Cow»

Q.32 Men of such extraordinary courage refers to the people who....................

liberated and abolished the Apartheid system.

used their resources to spread awareness.

fought for their country’s freedom.

demonstrated utmost strength to oppose the system.

8

ooy
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Q.33 Nelson Mandela compares to diamonds.

his countrymen
patriots

wise men

the oppressed

00 ®»

Q.34 When Nelson Mandela says, “I have seen men and women risk and give their lives for an
idea.”, he means that they are............

stubborn.
committed.

intelligent.
proud.

oow

Q.35 Select the suitable word from the extract to complete the following:
depths: heights : : compassion :

wisdom
oppression
struggle
courage

oo wp

VI. Read the given extract to attempt the questions that follow:

Let me put it more clearly, since no one will believe that a thirteen-year-old girl is completely
alone in the world. And I’'m not. | have loving parents and a sixteen-year-old sister, and there are
about thirty people | can call friends. | have a family, loving aunts and a good home. No, on the
surface | seem to have everything, except my one true friend. All | think about when I'm with
friends is having a good time. | can’t bring myself to talk about anything but ordinary everyday
things.

(From the Diary of Anne Frank)

Q.36 Why does Anne feel the following?
...no one will believe that a thirteen-year-old girl is completely alone in the world.

1) People knew she had a family.

2) People rejected the idea of loneliness.
3) She had several friends.

4) She had a cheerful personality.

5) Her life was comfortable.

Choose the correct option from the following:
A. (1) and (5)

B. (1), (3) and (4)

C. (2) and (3)

D. (2), (4) and (5)

Q.37 Select the most appropriate option for (1) and (2).
(1) ...onthe surface | seem to have everything, except my one true friend.
(2) Anne doesn'’t truly connect with anyone.
9



Re-uploaded at Learnmate

A. (1) istrue and (2) is false.
B. (2) is the opposite of (1).
C. () furthers the meaning of (2).
D. Both (1) and (2) cannot be inferred from the extract.
Q.38 From the options given below, identify Anne’s tone in the extract.
A. restless
B. dissatisfied
C. scared
D. hurt
Q.39 Select the option which displays an example of ‘having a good time’.
A. | He is out for a picnic with B. | He s studying hard for
his friends and they are the periodic test the
|aughing and singing fO”OWIng day to improve
together. his scores.

C. | He s trying to convince his D. _H? just rescued an
father to purchase the latest injured puppy and is
video games for him. tending to its wounds.

Q.40 What do we get to know about Anne when she says the following?

| can’t bring myself to talk about anything but ordinary everyday things

Choose one from the following to answer:

A.
B.
C.
D.

She is proud of her ways.

She is struggling to strike conversations.

She is unsure of her own thoughts.

She is unable to have a satisfying conversation.

VII. Read the given extract to attempt the questions that follow:

Money is external.

He is learning, well behind his desperate eyes,
The epistemology of loss, how to stand up
Knowing what every man must one day know
And most know many days, how to stand up

(The Ball Poem)

Q.41 The poet says money is external. What does it mean in this extract?

00w

Money helps us purchase materials that make life worth living.

Money promotes materialism and hunger for power among youngsters.
Money only impacts a person’s external environment.

Money buys materialistic things and can be earned again, when lost.

10
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Q.42 What does the boy learn by losing the ball, according to the extract?

1) Loss is the unavoidable truth of life.

2) Material objects can be replaced.

3) Money buys happiness.

4) Losses in life can be prevented with care.
5) Life continues despite losses.

A. (1), (2) and (5)
B. (2) and (4)

C. Only (1)

D. (3) and (5)

Q.43 The boy is learning how to stand up...
This means that he is learning to be in the face of difficulties.

A. patient

B. resilient

C. defensive
D. judgemental

Q.44 Which option lists who is speaking these lines?

A. An observer.

B. The boy’s parent.
C. The ball salesman.
D. Afriend.

Q.45 According to the poet, from whom do we mostly learn about loss?

A. Elders.

B. Experiences.
C. Books.

D. Teachers.

VIIl. Read the given extract to attempt the questions that follow:

| followed casually.

“Hello again,” he said.

| gave him my most appealing smile. “I want to work for you,” | said.
“‘But | can’t pay you.”

| thought that over for a minute. Perhaps | had misjudged my man. | asked, “Can you feed me?”
“Can you cook?”
“l can cook,” | lied again.
“If you can cook, then maybe | can feed you.”
He took me to his room over the Jumna Sweet Shop and told me | could sleep on the balcony.
But the meal | cooked that night must have been terrible because Anil gave it to a stray dog
and told me to be off. But | just hung around, smiling in my most appealing way, and he couldn’t
help laughing.

(The Thief’s Story)

11



Q.46 Even though Hari Singh followed Anil casually, it was a/an

A. careless action.
B. staged move.

C. unusual decision.
D. bold step.

Re-uploaded at Learnmate

Q.47 From the following options, identify Hari Singh’s intention behind the appealing smile.

Deceit
Harm
Hatred
Jealousy

o0 w»

Q.48 Select the option listing Anil's characteristics, as revealed in the extract.

1)
2)
3)
4)
5)

unassuming
kind
determined
naive
humourous

A. (2) and (3)

B. Only (5)

C. (1), (2)and (4)
D. Only (2)

Q.49 Select the most appropriate option based on (1) and (2).
(1) Anil gave his meal to a stray dog.
(2) Hari Singh did not know how to cook.

A. (2)istrue and (1) is false.
B. (2) is the result for (1).
C. (2) is the cause for (1).
D. (2)isfalse and (1) is true.

. cook.
. appeal.

Q.5

A. smile.
B

C

D. linger.

IX. Attempt the following.

Q.51 Lencho is

doubtful
stressed
confused
dismissive

o0

12

0 The phrase hung around suggests that Hari Singh continued to.............

when he says, “that’s what they say: no one dies of hunger.”
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Q.52 Which option correctly replaces the underlined phrase in the give line from Fire and Ice?

00w

| hold with those who favour fire.

am as experienced as
strongly disagree with
have the same opinion as
habitually avoid

Q.53 The purpose of the treatment, given to the young seagull by his parents, was to..............

A.

Q

oow»

teach him a lesson about the importance of food.

B. inculcate obedience towards them.
C.
D. improve his relationship with his siblings.

let him overcome his fear.

.54 Peggy often gave a nudge to one of her friends when she spoke to Wanda in the school

yard. This meant that she wanted her friend to

stop talking to Wanda and move on
observe and partake in the joke on Wanda
ignore the complete situation with Wanda
interrupt any reply that came from Wanda

Q.55 Inthe poem Dust of Snow, which negative symbols have been used to create a positive

Q
A
B.
C
D

effect?

hemlock tree; crow
crow; snow

snow; hemlock tree
crow; dust

.56 Mandela refers to liberty as “newborn” because it

. was dependent on others for growth and guidance.

had recently been attained with lots of struggle.

. made people experience infant-like excitement.
. arrived unexpectedly for everyone.

Q.57 In the poem A Tiger in the Zoo, what does the tiger’s ‘quiet rage’, indicate?

It indicates that the tiger’s anger is

A.
B.

C.
D.

forgotten.
provoked.
suppressed.
opposed.

Q.58 Identify the option that aptly describes Griffin.

oow»

greedy, yet kind
proud and honourable
considerate and selfless
brilliant, but lawless
13
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Q.59 Anil’s carelessness made stealing from him for Hari Singh.

A. uninteresting
B. difficult

C. systematic

D. predictable

Q.60 What does the exclamation, “This is a triumph of surgery!”, by Mrs. Pumphrey, mean?

The surgery was successful.

The mistress could take back her pet.
The doctor was a great veterinarian.
The planned venture was fruitful.

oowy»

14
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TERM Il

SAMPLE QUESTION PAPER (2021-22)
ENGLISH — Language and Literature (184)
CLASS-X
Time allowed: 2 Hrs. Maximum Marks: 40

General Instructions:
1. The Question Paper contains THREE sections-READING, WRITING & GRAMMAR and LITERATURE.
2. Attempt questions based on specific instructions for each part.

Q. SECTION A- READING (10 marks) Marks

Read the passage given below.

Technology is making advancements at a rapid rate but at the cost of a

valued tradition—the crafts industry. The traditional crafts industry is

losing a lot of its trained and skilled craftsmen. With that, the art of

embellishing brass and copper utensils with fine engravings is also
5 disappearing. The government has identified around 35 crafts as

languishing craft.

The speciality of handcrafted items is its design, an association with long
traditions belonging to a specific region. The word ‘handcrafted’ does not
imply the involvement of dexterous human fingers or an agile mind with a

10 moving spirit anymore. Lessening drudgery, increasing production and
promoting efficiency have taken precedence. The labour-saving devices
are taking the place of handcrafted tools and this has jeopardized the skills
of these artisans.

Mechanisation has made its way into everything - cutting, polishing,

15 edging, designing etc. Ideally, the use of machinery should be negligible
and the handicrafts should be made purely by hand with a distinguishable
artistic appeal. However, with the exception of small-scale industries, the
export units are mostly operated by machines. The heavily computerised
designs contribute to a faster production at lower costs.

20 Although mechanization of crafts poses a challenge to safeguarding
traditional crafts, the artisans are lured with incentives in order to impart
handicrafts training. Some makers do see machines as a time-saving
blessing since they are now able to accomplish difficult and demanding
tasks with relative ease. These machines might give a better finesse to

25 these products but they don’t stand out as handcrafted. Quantity has
overtaken quality in this industry.

A need to highlight the importance of the handmade aspect is required by
both the government and private sectors, in order to amplify awareness
and also support the culture of making handicrafts. A few artisans are still

30 trying their best to rejuvenate and revive their culture and heritage but it’s
an uphill task competing with the machine-made goods. A multitude of
artisans have changed their professions and are encouraging their progeny
to follow suit. There are others who have stayed their ground but are
clearly inclined towards buying machines.

35 Nearly two decades ago, there were around 65 lakh artisans in the country.
Three years ago, when the government started the process of granting a
unigue number to the artisans based on the Aadhaar card, 25 lakhs were
identified. Loss of traditional crafts is clearly a worrying issue, but it stands
to reason that forcing any artisan to follow old ways when concerns of
livelihood overrule other considerations, is unfair.

Page No. 1
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Adapted from: https://www.outlookindia.com/magazine/story/business-news-
handicraft-uncrafted-by-artisan-hands/302877
1*5
Based on your understanding of the passage, answer ANY FIVE questions
from the six given below.
. 1
I. What does the writer mean by calling handicrafts a ‘valued
tradition’?
ii. Rewrite the following sentence by replacing the underlined phrase 1
with a word that means the same from lines 5— 15.
If it continues, the workcation (work + vacation) trend will be a
powerful boost to domestic tourism operators failing to make
progress in the economic slump caused due to the pandemic.
1
iili. State any two reasons why artisans are choosing to work via
machines rather than handcrafted tools. 1
iv. Why do the artisans need to be ‘lured with incentives’ to impart
handicrafts training? 1
V. List one likely impact of the support of government and private
sectors towards the culture of making handicrafts.
1
Vi. How does the writer justify an artist’s act of abandoning her/his
traditional craft for a more lucrative option?

Read the following excerpt from a case study titled Impacts of Festivities on Ecology.

Festivals are synonymous with celebration, ceremony and joy. However,
festivals bring to fore the flip side of celebrations — pollution —air, water, soil and
noise. This led to the need of assessing the awareness level among people about
ecological pollution during festivals. So, a study was conducted by scholars of an

5 esteemed university in India. This study was titled Awareness Towards Impact of
Festivals on Ecology.

There were two main objectives of the study. The first one was to assess the
awareness level among people about ecological protection during festivities.
Exploring solutions to bring awareness about celebrating festivals without

10 harming ecology was the second objective. The method used to collect data was
a simple questionnaire containing 6 questions, shared with 50 respondents
across four selected districts of a state in the southern region of India.

The research began by understanding the socio-economic conditions of the
respondents before sharing the questionnaire. Once the responses were
15 received, the data collected was tabulated (Table 1), for analysis.

Table-1: Awareness level among respondents

QUESTIONS YES% | NO% | CAN'T SAY%
1. Do you feel that bursting crackers is a 46 54 0
must during festivities?
2. Do you think most people abuse 72 28 0
environmental resources during

celebration of festivals?

3. Do you think that celebrations & 64 32 4
festivities result in uniting people?

4. Do you enjoy bursting crackers for 68 32 0
amusement?
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5. Do you feel pressured to burst crackers 82 12 6
during festivals as an expectation of your
social status?

6. Are you aware of waste segregation & 56 40 4
disposal guidelines for better ecology?

The study recommended the imposition of strict rules and regulations as
opposed to a total ban on all festive activities which have a drastic impact on our
environment. The researchers believed that such measures would help in
harnessing some ill-effects that add to the growing pollution and suggested

20 further studies be taken up across the country to assess awareness about
ecological degradation.

The observations made in the study pointed to the environmental groups and
eco-clubs fighting a losing battle due to city traffic issues, disposal of plastics,
garbage dumping and all sorts of ecological degradation. The researchers

25 stressed that the need of the hour is increasing awareness among people to
reduce ecological pollution which can be facilitated by celebrating all festivals in
an eco-friendly manner.

Largely adapted from
https://www.researchgate.net/publication/325366454 Awareness towards Impact of Festivals on Ecol
ogy Need for Social Work Intervention

On the basis of your understanding of the passage, answer ANY FIVE questions from the 1*5
six given below.

i Why do the researchers call pollution the “flip side’ of festivals? 1

ii Comment on the significance of the second objective of the study with reference to lines 1
7-12.

iii. | Justify the researchers’ recommendation for limiting the drastic impact of festival 1
pollution on the environment with reference to lines 16-21.

iv | Why do the researchers feel that environmental groups and eco-clubs are fighting a losing 1
battle in the given scenario?

v Even though a larger number of people say ‘no’ to bursting crackers than those who say 1
‘ves’, festival pollution persists. How does evidence from table 1 support this statement?

vi | What purpose does the ‘Can’t Say’ column serve in the questionnaire (table 1)? 1

SECTION B - WRITING AND GRAMMAR (10 marks)
3. | Attempt ANY ONE from i and ii.
i Study the concept chart from the self-help magazine section of a monthly publication. 5

Page No. 3



https://www.researchgate.net/publication/325366454_Awareness_towards_Impact_of_Festivals_on_Ecology_Need_for_Social_Work_Intervention
https://www.researchgate.net/publication/325366454_Awareness_towards_Impact_of_Festivals_on_Ecology_Need_for_Social_Work_Intervention

Re-uploaded at Learnmate

Situation: Setback

Experience: Feeling upset

| Inability to process fully

l__’

Healthy Processing

Desire to:
Feelit 1 l
Learn from it Block feeling Block Learning:
Letit go Overwhelm
Self-criticism
Self-Doubt
Feel'ReflectLearn/Align: : L

Observe the pattern!

Rework beliefs on adequacy and
process childhood memories

Aszess magnitude of setback

Assess difficulty of work & likelihood
of future success by doing the work
Build grit to do the work

Can't come to terms
with:

I can fail sometimes
Everything can't be
controlled

Learning takes time
and effort

Stuck in romination
Experience listlessness

| Attention diverted

from potential learning

Access healing states to experience and
transform anxiety

Unacceptance of

Situations Triggers:
Inadequacy Apathy
Incompetency | Anger
Danger and Threat Anxiety
Blaming others Depression

Unconscious/Implicit memories:
Habitual process blocks

Scary early life experiences of being
reprimanded for not meeting
expectations

Write a paragraph in not more than 120 words, analysing the listed responses to the
situation when one faces setbacks.

FOR THE VISUALLY IMPAIRED CANDIDATES

Read the following excerpt from an article that appeared in a monthly newsletter
circulated among residents of a township.

The by-laws of some residential associations and management that ban owners and
tenants from keeping pets in their apartments, are justified.

Write a paragraph to analyse the given argument.
You could think about what alternative explanations might weaken the given conclusion
and include rationale / evidence that would strengthen / counter the given argument.

You are Samina Zaveri, Class X, Vadodara, Gujarat. You come across the following
information on a local library’s notice board.

Create Your Own Board Game Competition!

Create an educational board game, and send it to us at Teen-Toggle
Games Pvt. Ltd, 307, Satija building, Colaba, Mumbai by July 2022. The
top 10 winning board games will be featured on our international portal. 5

Attractive scholarships for the winners!

You wish to participate but require more information. Write a letter to Teen-Toggle
Games Pvt.Ltd in about 120 words, enquiring about rules, scholarship details and
deadlines. Also enquire about specifications for solo or group entries.
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4. | The following paragraph has not been edited. There is one error in each line. Identify the 1*3
error and write its correction against the correct blank number. Remember to underline
the correction. The first one has been done for you.

Error Correction
Have you ever learn from a mistake you have made? E.g. learn learnt
Many shouldn’t admit doing so. For those who do, a) 1
there was no need for guilt. We often make mistakes  b) 1
while taking risks, but all brush them aside and learn.  ¢) 1

With that, they usually don’t make mistakes the next time.

5. Read the conversation between a teacher and student and complete the passage that
follows.

Biology Teacher: | instructed you to draw the diagram of bacteria. Why
did you submit a blank sheet?

Sameer: Sir, | had drawn the diagram of bacteria, but you can’t see it
because it is not visible to the naked eye.

The biology teacher had instructed Sameer to draw the diagram of a bacterial cell and
asked him (@) cocoeveeeeeecee e, a blank sheet. Sameer respectfully answered 1
that he had drawn the diagram but (B) ....cccovveeeirieeeeeee e to the naked eye. 1

SECTION C- LITERATURE (20 marks)

6. | Answer ANY SIX questions in 30-40 words each. 2*6

i. | What is the significance of the Buddha’s request for a handful of mustard seeds and the 2
addition of a condition to it?

ii. | Justify how ‘Animals’ by Walt Whitman is a criticism of mankind and its ways. 2

ili. | Comment on the tone of the speaker when she says ‘Will you please look at me when I'm 2
speaking to you, Amandal’.

iv. | A ballad includes the telling of a tale as well as a surprise ending. Using evidence from the 2
poem, explain how these features are included in ‘The Tale of Custard the Dragon’.

v. | Which two issues about himself convinced Lomov of his decision to get married? 2
vi. | Briefly state how Matilda invited ‘a dreadful life of necessity’ into her family. 2
vii. | The hack driver successfully trapped the narrator in his web of words. Comment. 2
7. | Answer ANY TWO of the following in about 120 words each. 4*2
i. | Parents play acrucial role in the upbringing of their children. Critically examine the parents 4

of Bholi and Ebright, highlighting their impact on their children’s lives.

ii. | Pranjol and Rajvir discuss their next vacation destination. They shortlist Coorg and Goa.
Rajvir is keen on Coorg and tries to convince Pranjol. Develop a conversation between the
two, based on your understanding of Glimpses of India. 4

You may begin like this:
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Rajvir: Hey Pranjol! I think we should be visiting Coorg. It is a beautiful place with coffee plantations. | can
smell the aroma already!
Pranjol: | gave you the opportunity to explore a tea plantation last year, in Assam; | want to...

Farce is a kind of comedy which includes situations and dialogues that are ridiculous, 4
exaggerated and even absurd. Evaluate the play, The Proposal, as a farce.
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yfagsl wearuw, 2021-22
afadrr &=
Ryg- & v (F13-002)
i a#79- 2 9 qUIish-40

AT fagern:

(1) 39 9799 # a @3 §- @3 ‘& 3 @'

(2) @t weaT Jrfeiard &, FurEera @l geet & 3 HACER & e
(3) oI F H TaTodr & AUV &g QT

(4) @S '® & Fol 3 TR &1 AU 7T FAGRAT FT el FI T FoAh IUYRAT F 3 AT
(5) @s '@ H For 4 U= &, G el o WY fahew o U 1w §| AEATAR fasheq w1
CAI TG §U ART 9oeAT & 3w el

s ‘F (IS [FaF g [ 96T JEAF) 20 3%
wee 1. fAFAfaf@d geat & 3@ 25-30 el #H faf@T- 2x4=8
(@) WX AT Foob Thod T HeAT &, AT @ | oTh & TH HUA & HUN W
e HITSTT foh BIeT &1 Sliaed WRET HAadT & 6 FehR 3elaT AT?
(@) WieX &7 3URATT oW I ¢dGR HI ST & TAA FIf ol A? 916 & YR W
facy Hfaw|
(1) FAT HeAsh FHRIcHS T &1 Hehcll §? HhNIcHS Heleh ol Siidel H AT $fAKI I Hehcll
§? TS 30N @RI 39 faaR wehe fifSw|
(6) ‘TGedr et e T ardiehdr aF afed Ry HIfav|

gesT 2. Aefafed weat & @ fhegl i 9ot & 3 25-30 2rear # faf@u- 2x3=6
() ‘IcaTg HiddT & v AT ATYHAT doh Tfed Tase FIfTT|

(@) 38 |9 # Ugl 75 A HAdAT F B & Wi died &1 qoied frar am@r §2 38 39e
AsGl H <Ford HfATY
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(@) 58 &F F 9 1S frg Hfaar # w Agewdr 7 gl Siael H A fhT sregsrat
HiAar @@ §? Hiadr & A & WY HYT HT ge & v 3ugerd dh o Jedd Hif|
() 39 ¥ # udl 7S e wfadr i ifder dfeaar snoer gafad & § 3R =2 9%
afed Tose HIfSv|

w2l 3. feAfaf@d ueal # & fohedl & el & 3T ofererer 60 Asai # foIf@e- 3x2=6
(F) AT F AT IS H JOTT F99T R ST & TS H FAT FR g2 FAT 3T A FM
THT Gl FE9E! & Sitael Hedl 9 9ST 87 de Higd TI5C HIToIT]

(@) ‘Siel 9T &1 A 9r6 F Afgd 99T Fr TS gU 93T o AR RIefleadr §

HFT =T FA HaTF §?
(@M A&, Gell, aredl AR R F wWiEE died & da e Tt S Af@E F gem &t
TSR feAr? “TT-T1=T 1T NS’ U1 & YR W 33X GITT|

s ‘W (TWAcHS® d@eT Ws) (20 31)
4. AEAfAf@d 3gedel A @ fhe U fAwy W Fehd-fgait & YR 9T of@rsiar 150 ersal &
T faf@- (5)

(F) FRET F1el 3R AHTAAST TBTE
Hehcl-Tdg- $fAPT, lhsi3e I ©INUN, 3ficloliged HEMIT I RS, FHh e, IHhellge

FET3T  ToreTT, Tl ¥ ST arey, forser

(@) A AR THfaF 3maere

Tahd-fig- AT, yafa 3R AEa &1 A1, AT g@RT e F-faar weia &1 age, FRoT
Td geTE, Yehid & Ug & & fav g e, sy

(1) S FGI&T : Siaer TaT

Tha-[Hg- SfAFT, TsF QBT & I3 F© @ A, F5F T & A 61 e ¥ g
qrell gIdT, Seg U & oTH, sy
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5. el T & Hlelst A Al ol =gl §, b 39 =rm St 3 T gers o
WWQWWW%Isﬁaﬁﬁmﬁrwsﬁaﬁaaald@wmu 120 2reay
# v ux faf@u (5)

34T
39 &1 H TR AT HT ghlel T HaTelsh RIS & AT T 37eATeT T RIS HI
¢ 3N T Fgal W 30 YHSIAT ¢ 3 RNbId H g 918097 120 el # foranfamdy
Fr g3 faf@u]

6. () 3MIRT AT Fole fhUT W AT §1 5T% foIT @13T 50 el H Ueh 3Thveh faardeT

IR fifa (2.5)
Agdr

3Maehr & A GIMT Fell Fg Wl &1 5TF TIR-YIR & T #1791 50 Asel H Th 3Thvah

faaosT daR Hifae|

(@) AHATSS FEAT G o ARM-FlFd SAEEehal P & foIw oarser 50 ersal # Th

THYF AAT IR AfST (2.5)
3ryar

9§ FH BAT H TAE el Tollod dTell FYe & AT w1897 50 real # T IThdeh Az

R HIfST|

7. () TS IfAHAT TWieT A& (TACITHS) H Tgoll TATA UIod el X 379 fHFT &l o9msTer
40 ereet H HPHAT HeLr fAT@T| (2.5)
3rar
e wR & U aTef dRcl qWEHPR & FFEANAT gl aTel 39eT fAT @l oareyar 40 reel &

Fus Tewr fafau|

(@) AT & I 3 BT F N0E & 3G W AIHT 40 qsal H TS TUrS TS
faf@u (2.5)
3rear

Far-ammelt T ggell ddTfgeh aWIls X ST 40 escl H Teh YHHAT HW T QT
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gfaeel 9299 2021-22 99 - T
fawT <Y ()12 085)

FATger3ofie YUl : 40

AT A&

o *TMUNTHAMI@S & Ws'd, @ 3R

o *WS'H WP 2 UH IV U &1 AT UMl & Fel 20 3uwy &y o §1 & my &0 &

qTei &<l §U Pl 10 IUUHT & IR S0

o ‘W' W 4N & TUT ST HHI & 21 3UUH &l 379 A FAEMTHR 16 3UUH & 3w =01

o W' AP 3 UH & AYUT 14 Uy Titafera & Tl 3uusi & 3w =0l
gs'F HufSa Temr (10 37h)

wReT 1. AT ar areer fGu arw €1 foRd wen aremer it eareTgaes afeu 3R 37 9X 3manRa weat & 3%
eI fashed o T, (1x5-5)

Ife 37T $F TSI T TGl I & dl HYAT 3R s A fAfQT fob 39 o= dear 1 # few v
IMEATe-1 W AR TeaAt & 3R @ B |

3TTOT AN el & fIT R & Uit faaRept o Fo 7T 1 g fhar g g1 @zt 7 aof
3R cTagR 1 Y T8, el R TSR T FH I f¥alle, YeaH TRETRD Hegra 3R Jar i Hrd=T
3T A g FgcayuT A=Y 91 &1 I Tl g i veh caferd & a3 apott & &9 & off sifarard
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AT ST Al 3HPT 3T Sirele] G 3N HTACHT §1 Hehal & | FefY 0T T TIehrd Teh aTelen # IS 38T
STCITGEAT & €1 FohdT SITT 6T I8 3791 S 3T A5G AT SeT Hehell ¢ | $oT I[UI & HRUT I 3791 IRAR,
3T 9314, TaeITerT A 3791 HgUITSAT Ud 37EATIh! o YT TJUId SIIgR T Fherl|

aToflt U eFagR T AYIAT el & ToIT g@err gl 8, HATST & giiéeh Teemd T gefer sleh ¢ fohg
EPREIT cTiard gl eetaer aroft 3R fAST STagR FT JAT X Tl & IEHRT AR ot safara aer
377rse aroft 3R caagR &1 39T 8T & | Toaehr 9RO I8 81aT & o U 3T & cUdgR & AT
# enifar 3R FeTS F 1 arara]or AT Serdr|

T YR Teh o TATS & @ 3791 TdgR A ey 3R 31THR & 9fa ot T§ar §,3d g a2r
F gfa off 3ThT cTaER ey 3R PR FHr Jra=TT J Mfad =TT TnfeT| 3Thr

hered g1 STl & fob 1 o a8 T i UHT Sh1H & 3R 7 &1 @l &l el &, TSI &2 o AT, §uicd
3R FarfdaA = 38 o9

HHATST TG =1 H LM AT TG o ferw enfie Afgsopar ot agf 3maeden &1 Tg ey qah 37 Tl § 51T
T Hlfold caTrclcd o1 81| I8 JHTcReh d STedT HEY & R ATHATToTehdT T 3ef3{fc & TR0 g feherea
gIeT TR |

fArfafEd & & fAderar gafere 3uged el 1 age ffaT|

(1)ITCTET & HEIT H HTOT AT Jelol o ToIT TATH] T TGN HTGRIF ¢, FiTeh I8 -
(&) TITTAT Y TEIAT ST & TATH ATdATa”oT B 21ifa | ufvquf Hwar &1

(@) egfFdcd Sl TAERE st I ARG - A F IRYOT AT 8 |

(3N ATFcled I FAERE Siaet 1 G@ 3N HITThHAT § TRYUT AT B |

(&N ST Y 3§, [&1aer aroft 3T Rse sgagr @ aRqet & 2

(2) ATUT T eqagR T ALYRIAT T o [T GUeTTeh §Icll & | S el & folv SuFeFd deh & -
() C=T & FEATA, FURY 3R FATHATA T SH UGN & |

(@) S T AT # 2Nty 3R eI FT ATdTER0T AGT ST

(@Meheied 3R R T T fale Sgd g 8|

(€N FHATS H F1fcer TEHa 1 gafer 3R ga & ufaser gt §1
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(3) 3ERRY 3R o cafera TeT 3T e & -
(&) 377rse aroft 3R cIagR T

(@) AR TG HRASE HAER HT

@0 31fre a1l vd egagR T e

(en T&A7%r aroft 3T 31frse cIagR i

(4 EfoIdT edfeFced F dAead g -

(@ AR T ST T § TUT ATAITSTRaT 1 Ie1fer & IRt safFdea

() =N H YUTH: JHTELT AT eh T cTAGR el alell GEEIAeh e eFcicd

(31 AR T ST TS F I HYOT FIATTSRT I 31e31{cd & IRY0T safFica
(€N FheTed IR TSR & Tf ToTeT Tgot aTell AT Jgfal @ TRYOT e febetea

(5) &ITTHeR HIFSUICT T FATIAT HTTTh & FTTeh S -
(@) ATUHR 3R Fcted X fasrar ured gt st

(T) RN AT YT T hT aﬁqéuaul

(N HARAT Ffgeret Fr gfassr a=i el |

(€0 HATST UG 27 3 AT STaEUT i1 g9l |

31qar

Ife 37T $E ISR T TGl I & dl AT 3R s A fAfQT fob 39 o= dear 1 # few 1w
ICTeM-2 IR IR IR o 3R for@ W@ g |
AT fET T eI T LAY iU HR 38 TR IR F2=A1 o6 3 HEl faehed geret T |

3T Tt o [oIU §H TARATST T el T SIRIT oTaT 8lIcl, STod oA A H TaRATldT & gt Wislel
IS 8| 9 T H Fod THAHT Sl STl ST g1 81 Gfar & ATl 7 ST SlefaTell &, 30H gAR
gl T T A § | 3Teac IMSEENT o Teh TR 39T HIETIhR H gl AT fob gAY [T €1 gAR
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HTEcT T IMYUR | 9T 9ot & gaAR St 7 o a1fd 3mweft 31} 77 IS 317 1w 517 g7 Riad A &,
a9 S 9T ATHS 37T &1 Ot et &1 &Y IR § fF 78 derelter 3iferAeeT 3R nfefpfamer
gefored Sl <ol 3TeT gfAaT H M QN E | 519 §H dhgd & a4, Hl, T, A AR 37eT 1 FA1g 0T
Fotl 3R Gohod Teh o715 A1 3R 318 & GT AT T AT e T & |

§H 38 g1 &Y Selt 3MTet IS el ¢ T - ofieh A gt el w161 16t | IS Tafdetar s1g], 1 §1 s
AT & | T AT SiideT &, [STHH SIS Piclgel 1 hIg HRUA 61 ? 58 ST H AR AT Teh et
T A0 T TG &, ST 39T GEHAY SHGTEAT H 93 TGl & | olfcheT Sl Fac §1dl ¢, d &g i JATarel Goid
&1 S 13T g1T A8 8, 39 gfevan 3R sEhT yedeh urear, a&q Ua fEufer o 3rdetr 3meed yehe A B
T TeT AN a6 § T geat Aot R 3R G@et 6 HIALA S Y &, TST 99T 1t 8| Foremyg
AT 3R g €Y aeiet 3R e hr gforar st €

fRrfai@d # 4 Ao waifties 3uged faehedl &1 =ge HfoTT|
(1) TS H1H H TIATIT & ResT @iot F W@ &1 AT § -

(o) 2 AT AT T F37 Tefad T RO SN |

() T HTH I Hgcd ST IS o TS|

() Tk HTH Y et & T TET TR B

(€1) TcAeh STH HT ATV 93 4R R A |

()3T TG & 7Y & -
(@ eIt

@ g s

@n arfaAT

(€0 AT

()FANAT T AT et § §H W Fonferdt & faeq g1 7@ &1 AdleTcll oh TaTER & &9 H SHhT
TERIHT & foIT IUZerd e 8-

() GHRY AT eUfel T Shrero] a1 fawToy i a3E &

(@EHAR AR, AT, AIREFR T T fadrg & forw g1
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(31 S FIAT ATATHRT Tl 81 8, I GERT T TS Gl B |
(€N 519 g [del XA &, A =18 ST AT 31T & |

(4)eT1eh I g T i TR Ad ket & ToIT 3TaeTH § -
(FIFEHY TTEUT

(e S AT Gefadl

(@0 3dHT H Tea foramar

(€ &<TeT 3R FAr=iret hr gferam

(5T & gAR 31fedca & IR Hr aRIIF § Fife I8 -
() AT B TP STHRA BT doTTfab arifdl 2

@) s @ AR ¥ A it wad 81

@ 3R §efesia & 3uafimar axifdt 21

(= fagard) wr R fRufa Faffa s 8

ReT 2 AT T ITEATE TET AT & | ForlT U ITETeT T EAAYIR IfeT HR 37 I AR 9T & 3
el fahed gAR QST (1x5-5)

e 3T SH I &l T I & dl AT 3R et H fATQT foh 319 woaT dear 2 A few v
ICATL-1 W TR 9RaAt & 3R @ | g |

STITERT # T T & UG FHST STl & G STd [T HTCHT Il TGol Gof T ath gl aT6d & ar
38 T g & | LT TIAT JTHKF ¢ AT 38 AT, 3HRT 3796 ARSI o 38 78 T & A §,
SaHT AT LT R ST FehcT| I A9 AR §, SA15 83 I Y 312 &Y figeiy o1 & eRor 9
I g1 el oY g I ST g, et Ha-Hal 3T off ey 31T & SATaT &, SIfoheT I I Y prer
Tt &TET Fetl, o 2T | FHHAT Tl 38 AR, T SR TR TS g ©1 WA BTed &, 3Heh 96X IR Fefl
AT BT ST ot & fewrs ol | ARG # ATg UehTEr STX Frolel Y ofcll &T; T} §HaA ot 39 el ger git
&Y 3T | 3T Y R T LA AvIe ST T g |
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G-, glfel-aTmst fordll g=Il & 1 38 Seeld oTe1 @ | F - HfeAT o i) 0T E, I8 Tl 37 TRrhreer
I TG AT, TR HTEH 3H JIhS FEcll ¢ | HEI[UN T Feloll HATE Fel 761 T | et HeTdel FER
& foIT 3ugFA AGT 2

(1) e g T FET &Y Tl foh a7 Septh & AT HNeT FiTeh 3Heh eTAN -

(o) ITET 3T - TR HT A=A § W &

(%) ITET 3PTET T Frolel TET el &

() AT WY I WSOy el §

(N T FH A W e 7 AW T g

(2) 7T 7 YA o Plef-hleT F 0T WAl AATE ?
(&) STI-dT FHLeAT

(T) AT T AT

(3N 3TEAY T ATGAT

(€N Frolel AT

(3) 31T TASE HITAT-"3Hh g T Teh TURAT favIe ST |are
() ITET He T I TGl &, 3 GBI U hT 76T ST Irar
@ wﬁaﬁrqu VST SIAT IS AT &, ST HIRUT I8 Uh ST g

(3N 3TEHT GART GEIaER A T St el oh HRUT AT GET §

(€N I o Yoo HW TR HeT [EUT HAlY ST @l &

(4)ITETT H TgFT Arsal’ BT, freaar 3rerare & fo swerer: 3faa faee g § -
(@ 3HA, 1AL, JamH

@) Afreferar, Jifrees, arme

@ENYY, A, FrH

(€N ge, AfAea, gard

(5) "HIETTeT AR & IT 3UGFA LT §1' AWk I Tg el hFd Pl & b -
(&) 37T T & YT T TN © |
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(@) FATST H 1L T 31 T AT anfew |
(@1 ITET foAToe; AiESOY, Fer-AreT g1 ¢ |
(€N & HeF[uiT o 37eATeR o forw R g |

3_qar

e 3T S& IS I T & & dl AT I Gt H QT foh 39 weet d@eam 2 # fgu aw
AMEATA-2 T IR 92l & 31 @ @ &

ATl f&T 1T ATeETer T eATeTqdeh UG U 3R 36 T 3T 9T & IR Fel fdehod Jola foIf@w
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Sample Question Paper (TERM —1) 2021-22

Class X
Science (086)

Time: 90 Minutes

General Instructions:

1. The Question Paper contains three sections.

2. Section A has 24 questions. Attempt any 20 questions.
3. Section B has 24 questions. Attempt any 20 questions.
4. Section C has 12 questions. Attempt any 10 questions.
5. All questions carry equal marks.

6. There is no negative marking.

SECTION - A

Section — A consists of 24 questions. Attempt any 20 questions from this section.

The first attempted 20 guestions would be evaluated.

A. The solution turned red.

B. Yellow precipitate was formed.
C. White precipitate was formed.
D

. The reaction mixture became hot.

Reema took 5ml of Lead Nitrate solution in a beaker and added approximately 4ml of
Potassium lodide solution to it. What would she observe?

Identify gas A in the following experiment.

Thistle funnel

Delivery tube

Stand —=

o —d

Test tube
Dilute ————————pe
sulphuric
ackd

\ ‘ Burning of 83

sas A,
with a pop sound

Candle

1

Soap bubble filled

Zinc granules with gas A
o
= \% 23

/<> \ N

I —
A. Nitrogen
B. Hydrogen
C. Oxygen
D. Carbon dioxide
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METAL
Dil. HCI
METAL

SALT GAS

Which of the following two combinations are correct?

Metal Gas Evolved
(@ Copper Yes
(ii) Iron Yes
(i) Magnesium No
(iv) Zinc Yes
A. iandiii
B. iandiv
C. iiandiii
D. iiandiv

Which of the following correctly represents a balanced chemical equation?

Fe(s) + 4H,0(g) — Fe30, (s) + 4H2(9)
3Fe(s) + 4H,0(g) — Fes04 (s) + 4H2(9)
3Fe(s) + H20(g) — Fes04 (s) + Hz(9)
3Fe(s) + 4H,0(g) — Fes0, (s) + Ha(9)

©CoOw»

The graph given below depicts a neutralization reaction (acid + alkali — salt + water).
The pH of a solution changes as we add excess of acid to an alkali.

14—A B

pH

D

volume of acid added

Which letter denotes the area of the graph where both acid and salt are present?
A A

B. B
C. C
D. D
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6. In the reaction of iron with copper sulphate solution:
CuSO, + Fe ---> Cu + FeSO,
Which option in the given table correctly represents the substance oxidised and the
reducing agent?
OPTION Substance Oxidized Reducing Agent
A Fe Fe
B Fe FeSO,
C Cu Fe
D CuSO, Fe
7. The chemical reaction between copper and oxygen can be categorized as:
A. Displacement reaction
B. Decomposition reaction
C. Combination reaction
D. Double displacement reaction
8. Which of the given options correctly represents theParent acid and base of Calcium
Carbonate?
OPTION PARENT ACID PARENT BASE
HCI NaOH
B H,CO3 Ca(OH),
C H3PO; CaS0O,
D H,SO, CaSO,
9. How will you protect yourself from the heat generated while diluting a concentrated acid?
A. By adding acid to water with constant stirring.
B. By adding water to acid with constant stirring.
C. By adding water to acid followed by base.
D. By adding base to acid with constant stirring.
10. | Why is it important to balance a skeletal chemical equation?

A.
B
C.
D. To verify the I0aw of conservation of momentum.

To verify law of conservation of energy.

. To verify the law of constant proportion.

To verify the law of conservation of mass.
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11. | Carefully study the diagram of the human respiratory system with labels A, B, C and D.
Select the option which gives correct identification and main function and /or
characteristic.

(i)
Bronchus
Cut end of nb (ii)
(iii)
Lung
(iv)
A. (i) Trachea: It is supported by bony rings for conducting inspired air.
B. (ii) Ribs: When we breathe out, ribs are lifted.
C. (iii) Alveoli: Thin-walled sac like structures for exchange of gases.
D. (iv) Diaphragm: It is pulled up when we breathe in.
12.

Identify the option that indicates the correct enzyme that is secreted in location A, B and
C.

\ 5
3 0
|
\n‘ £ -_: Z '1' l (('Illl))
\ ¥ R&E { ,/.
N ‘?_‘ "_-:J l'/

A. (i)-lipase, (ii)-trypsin, (iii)-pepsin

B. (i)-amylase, (ii)-pepsin, (iii)-trypsin

C. (i)-trypsin, (ii)-amylase, (iii)-carboxylase
D. (i)-permease, (ii)-carboxylase, (iii))-oxidase
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Opening and closing of stomatal pore depends on:

13.
A. Atmospheric temperature
B. oxygen concentration around stomata
C. carbon dioxide concentration around stomata
D. water content in the guard cells
14. | The figure given below shows a schematic plan of blood circulation in humans with labels
(i) to (iv). Identify the correct label with its functions?
(iii)
(iv)
A. (i) Pulmonary vein - takes impure blood from body part.
B. (ii) Pulmonary artery - takes blood from lung to heart.
C. (iii) Aorta - takes blood from heart to body parts.
D. (iv) Vena cava takes - blood from body parts to right auricle.
15. | Identify the phase of circulation which is represented in the diagram of heart given below.

Arrows indicate contraction of the chambers shown.

: Q E
Blood transferred to the right ventricle and left ventricle simultaneously.

Blood is transferred to lungs for oxygenation and is pumped into various organs
simultaneously.

C. Blood transferred to the right auricle and left auricle simultaneously.

D. Blood is received from lungs after oxygenation and is received from various organs
of the body.

w >
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16. | Observe the diagram of Human digestive system.
Match the labeling referred in column | and correlate with the function in column II.
Column I | Column II
i a. The length of this depends on food the organism eats.
il b. Initial phase of starch digestion
il c. Increases the efficiency of lipase enzyme action
v d. This is the site of the complete digestion of
carbohydrates, proteins and fats.
A. i.-a);ii—Db);iii—c);iv-d)
B. i.-b);ii—c);ii—d);iv-a)
C. i-b);ii—d);iii—c);iv-a)
D. i.-d);ii—a);iii—Db);iv-c)
17. | Which of the following mirror is used by a dentist to examine a small cavity in a patient’s

teeth?

A. Convex mirror

B. Plane mirror

C. Concave mirror

D. Any spherical mirror
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18.

Which diagram shows image formation of an object on a screen by a converging lens?

A. B.

2 = focal length 2 = focal length

f | ~1

object object x_‘

screen screen

focal length focal length

ob?ect ]\ R
)\\ object

screen

screen

19

Which of the following can make a parallel beam of light when light from a point source is
incident on it?

A. Concave mirror as well as convex lens.

B. Convex mirror as well as concave lens.

C. Two plane mirrors placed at 90° to each others.
D. Concave mirror as well as concave lens.

20.

Consider these indices of refraction: glass: 1.52; air: 1.0003; water: 1.333. Based on the
refractive indices of three materials, arrange the speed of light through them in
decreasing order.

A. The speed of light in water > the speed of light in air > the speed of light in glass.
B. The speed of light in glass > the speed of light in water > the speed of light in air.
C. The speed of light in air > the speed of light in water > the speed of light in glass.
D. The speed of light in glass > the speed of light in air > the speed of light in water.

21.

If a beam of red light and a beam of violet light are incident at the same angle on the
inclined surface of a prism from air medium and produce angles of refraction r and v
respectively, which of the following is correct?

r=v

r>v

r=1/v

r<v

oCoOw>
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22.

Concave Mirror

[

c F

Examine the above figure and state which of the following option is correct?

[one small box in the figure is equal to 1 cm]

A. The mirror has a focal length of -6 cm and will produce an image of magnification +1.
B. The mirror has a focal length of -3 cm and will produce an image of magnification -1.
C. The mirror has a focal length of -3 cm and will produce an image of magnification +1.
D. The mirror has a focal length of -6 cm and will produce an image of magnification -1.

23.

Q

glass

The angle of incidence from air to glass at the point O on the hemispherical glass slab is.
A. 45°

B. 0°
C. 90°
D. 180°

24.

A prism ABC (with BC as base) is placed in different orientations. A narrow beam of
white light is incident on the prism as shown in below Figure. In which of the following

diagrams, after dispersion, the third colour from the top of the spectrum corresponds to
the colour of the sky?

ay B & (iv)

A. (i)
B. (ii)
C. (iii)
D. (iv)
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SECTION - B

Section - B consists of 24 questions (SI. No.25 to 48). Attempt any 20 questions from this section.
The first attempted 20 guestions would be evaluated.

25.
Heated
Limestone —— —+ X + (0
Step1 ‘
+H,0
l Step 2
Slaked lime

Identify the correct option from the given table which represents the type of reactions
occurring in step 1 and step 2.

endothermic exothermic
A X v
B v X
C v v
D X X

26. | In which year is concentration of hydrogen ion the highest?

2004 200 }OOK 07 2008 2000 2010 2011

= Rain PH Value

..

E

A. 2002
B. 2008
C. 2011
D. 2005

27 The diagram shows the reaction between metal and dil. acid.

D
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Zn -+

i) -Hy D
c
A B

What is the reason for different behaviour of Mg in test tube B?
A. Mg is lighter element than dil. HCI
Mg reacts with dil. HCI to produce H, gas which helps in floating

B.
C. Mg reacts with dil. HCI to produce N, gas which helps in floating
D. Mg reacts with dil. HCI to produce CO, gas which helps in floating

The table shown below gives information about four substances: A, B, C and D.

28.
SUBSTANCE MELTING ELECTRICAL CONDUCTIVITY
POINT (K)
SOLID LIQUID/ AQUEOUS
A 295 Good Good
B 1210 Poor Good
C 1890 Poor Good
D 1160 Poor Poor
Identify lonic compounds from the above given substances.
A. AB
B. B,C
C. ABD
D. AC,D
29. | Vinay observed that the stain of curry on a white shirt becomes reddish-brown when
soap is scrubbed on it, but it turns yellow again when the shirt is washed with plenty of
water. What might be the reason for his observation?
i. Soap is acidic in nature
ii. Soap is basic in nature
iii. Turmeric is a natural indicator which gives reddish tinge in bases
iv. Turmeric is a natural indicator which gives reddish tinge in acids
A. iand ii
B. ii and iii
C. i andiv
D. iiandiv
30 In which of the following setups would the bulb glow?

10
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6 volt battery__, HHl—(U)—L_ Bulb

=— Switch

—Dilute HC1 solution
——Rubber cork

6 volt battery__, HH—m—,L— Bulb

=— Switch

—Sugar solution
——Rubber cork

6 volt batteg_, HH_(U)T Bulb

=— Switch

(iii) —— Beaker

——Alcohol in water
——Rubber cork

6 volt battery__. m_l-— Bulb
b s— Switch

(iv) —— Beaker

L Nail
——Lime water
——Rubber cork

A. iandii
B. iandiv
C. ii,iiiand iv
D. i, iiandiv

11

D
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Question No. 31 to 35 consist of two statements — Assertion (A) and Reason (R). Answer these
guestions selecting the appropriate option given below:

Both A and R are true and R is the correct explanation of A
Both A and R are true and R is not the correct explanation of A
Ais true but R is false

Ais False but R is true

o0w»

31. | Assertion: Fresh milk in which baking soda is added, takes a longer time to set as curd.
Reason: Baking soda decreases the pH value of fresh milk to below 6.

32. | Assertion: Decomposition of vegetable matter into compost is an endothermic reaction.

Reason: Decomposition reaction involves breakdown of a single reactant into simpler
products.

33. | Assertion: Resins and gums are stored in old xylem tissue in plants.
Reason:Resins and gums facilitate transport of water molecules.

34. | Assertion: Sky appears blue in the day time.
Reason: White light is composed of seven colours.

35. | The table given below shows the reaction of a few elements with acids and bases to
evolve Hydrogen gas.

Element Acid Base
A X X
B v v
C v X
D v v
Which of these elements form amphoteric oxides?

A. Aand D

B. Band D

C. AandC

D. Band D

36. | In which of the following groups of organisms, blood flows through the heart only once
during one cycle of passage through the body?

A. Rabbit, Parrot, Turtle

B. Frog, crocodile, Pigeon
C. Whale, Labeo, Penguin
D. Shark, dog fish, sting ray

12

D
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37.

What is common between extensive network of blood vessels around walls of alveoli and
in glomerulus of nephron?

A. Thick walled arteries richly supplied with blood

B. Thin walled veins poorly supplied with blood

C. Thick walled capillaries poorly supplied with blood.

D. Thin walled capillaries richly supplied with blood

38.

Plants use completely different process for excretion as compared to animals. Which one
of the following processes is NOT followed by plants for excretion?

A. They can get rid of excess water by transpiration.

B. They selectively filter toxic substances through their leaves.
C. Waste products are stored as resins and gums in old xylem.
D. They excrete waste substances into the soil around them.

39.

If the power of a lens is - 4.0 D, then it means that the lens is a
A. concave lens of focal length -50 m
B. convex lens of focal length +50 cm
C. concave lens of focal length -25 cm
D. convex lens of focal length -25 m

40.

Rays from Sun converge at a point 15 cm in front of a concave mirror. Where should an
object be placed so that size of its image is equal to the size of the object?

A. 30 cm in front of the mirror

B. 15 cm in front of the mirror

C. Between 15 cm and 30 cm in front of the mirror
D. More than 30 cm in front of the mirror

41.

In which of the following groups of organisms, food material is broken down outside the
body and then absorbed in?

A. mushroom, green plants, amoeba
B. yeast, mushroom, bread mould
C. paramecium, amoeba, cuscuta

D. cuscuta, lice, tapeworm

42.

In a person the tubule part of the nephron is not functioning at all. What will its effect be
on urine formation?

A. The urine will not be formed.

B. Quality and quantity of urine is unaffected.
C. Urine is more concentrated.

D. Urine is more diluted.

43.

If the real image of a candle flame formed by a lens is three times the size of the flame
and the distance between lens and image is 80 cm, at what distance should the candle

13
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be placed from the lens?

A. -80cm
B. -40 cm
C.-40/3 cm
D.-80/3 cm

44,

Object
Principal AXis ----------=sseeeee @ l-needeeee et SO
C F

While looking at the above diagram, Nalini concluded the following-
i. the image of the object will be a virtual one.

ii. the reflected ray will travel along the same path as the incident ray but in opposite
direction.

ii. the image of the object will be inverted.

iv. this is a concave mirror and hence the focal length will be negative.
Which one of the above statements are correct?
A.iandii
B. i and iii

D. i, ii, iii and iv

14
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45.

medium 1 \%
medium 2 N
medium 3 N

medium 1 [

In the above diagram light is travelling through different media. It is noted by a scientist
that £1= £3= «£4 but £2 <«1. Which of the following statement would be correct?

A. Medium 1 is the denser than medium 3 but it’s density is equal to medium 2.
B. Medium 2 is the rarest medium.

C. Medium 3 is denser than medium 1.

D.

Medium 1 and 3 are essentially the same medium, but medium 2 is denser than 1
and 3.

46.

The refractive index of flint glass is 1.65 and that for alcohol is 1.36 with respect to air.
What is the refractive index of the flint glass with respect to alcohol ?

A. 0.82
B. 1.21
C. 111
D. 1.01

47.

TBQ—-‘;‘\—\—
\

The above lens has a focal length of 10 cm. The object of height 2 mm is placed at a
distance of 5 cm from the pole. Find the height of the image.

A.4cm

B. 6.67 mm

C.4mm

D. 3.33 mm

15
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48.

A cable manufacturing unit tested few elements on the basisof their physical properties.

Properties w X Y 4

Malleable Yes No No Yes
Ductile Yes No No Yes

Electrical Yes Yes Yes No

conductivity

Melting Point High Low Low High
Which of the above elements were dicarded for usage by the company?
A W, XY
B. X,Y,Z
C. W, X, Z
D. W, X, Z

SECTION -C

Section- C consists of three Cases followed by questions. There are a total of 12 questions in this
section. Attempt any 10 questions from this section.

The first attempted 10 guestions would be evaluated.

Case

The Salt Story
From: The New Indian Express 9 March 2021

The salt pans in Marakkanam, a port town about 120 km from Chennai are the third
largest producer of salt in Tamil Nadu. Separation of salt from water is a laborious
process and the salt obtained is used as raw materials for manufacture of various sodium
compounds.

One such compound is Sodium hydrogen carbonate, used in baking, as an antacid and
in soda acid fire extinguishers.

The table shows the mass of various compounds obtained when 1litre of sea water is
evaporated

COMPOUND FORMULA MASS OF SOLID
PRESENT /g

Sodium Chloride NaCl 28.0
Magnesium Chloride MgCl, 8.0
Magnesium Sulphate MgSO, 6.0
Calcium Sulphate CaSO, 2.0
Calcium Carbonate CaCOg 1.0
TOTAL AMOUNT OF SALT OBTAINED 45.0

16
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Which compound in the table reacts with acids to release carbon dioxide?

49.
A. NacCl
B. CaSO,
C. CaCO;

50. | How many grams of Magnesium Sulphate are present in 135¢g of solid left by evaporation
of sea water?
A. 69
B. 12g
C. 18g
D. 24g

51. What is the saturated solution of Sodium Chloride called?
A. Brine
B. Lime water
C. Slaked lime
D. Soda water

52 What is the pH of the acid which is used in the formation of common salt?
A. Between1to3
B. Between6to 8
C. Between 810 10
D. Between 11to 13

Case | The Figure shown below represents an activity to prove the requirements for

photosynthesis. During this activity, two healthy potted plants were kept in the dark for 72
hours. After 72 hours, KOH is kept in the watch glass in setup X and not in setup Y. Both
these setups are air tight and have been kept in light for 6 hours. Then, lodine Test is
performed with one leaf from each of the two plants X and Y.

el jar—a

Walch-glass —

containing
PEolassnaTn
hydroxide

17




Re-uploaded at | earnmat

D

53 This experimental set up is used to prove essentiality of which of the following
' requirements of photosynthesis?
A. Chlorophyll
B. Oxygen
C. Carbon dioxide
D. Sunlight
54. The function of KOH is to absorb
A. Oxygen.
B. Carbon dioxide.
C. Moisture.
D. Sunlight.
55. Which of the following statements shows the correct results of lodine Test performed on
the leaf from plant X and Y respectively?
A. Blue - black colour would be obtained on the leaf of plant Xand no change in colour
on leaf of plant Y.
B. Blue - black colour would be obtained on the leaf of plant Y and no change in colour
onleaf of plant X.
C. Red colour would be obtained on the leaf of plant X and brown colour on the leaf of
planty.
D. Red colour would be obtained on the leaf of plant Y and brown colour on the leaf of
plant X.
56 Which of the following steps can be followed for making the apparatus air tight?
i. placing the plants on glass plate
ii. using a suction pump.
iii. applying aseline to seal the bottom of jar.
iv. creating vacuum
A. iandii
B. ii. and iii
C. i. andiii
D. ii.and iv
case | Noor, a young student, was trying to demonstrate some properties of light in her Science

project work. She kept X’ inside the box (as shown in the figure) and with the help of a
laser pointer made light rays pass through the holes on one side of the box. She had a
small butter-paper screen to see the spots of light being cast as they emerged.

18
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What could be the ‘X’ that she placed inside the box to make the rays behave as shown?

57.
A. a converging lens
B. a parallel-sided glass block
C. aplane mirror
D. atriangular prism
5g. | She measured the angles of incidence for both the rays on the left side of the box to be
48.6°. She knew the refractive index of the material ‘X’ inside the box was 1.5. What will
be the approximate value of angle of refraction?
A. 45°
B. 40°
C. 30°
D. 60°
(use the value: sin 48.6°= 0.75)
5g. | Her friend noted the following observations from this demonstration:

i.
i.
i
iv.
V.

Glass is optically rarer than air.

Air and glass allow light to pass through them with the same velocity.

Air is optically rarer than glass.

Speed of light through a denser medium is faster than that of a rarer medium.

The ratio: sin of angle of incidence in the first medium to the ratio of sin of angle of
refraction in the second medium, gives the refractive index of the second material
with respect to the first one.

Which one of the combination of the above statements given below is correct.

A.

B
C.
D

ii, ivand v are correct.
ili and iv are correct.
i, ivand v are correct.
iii and v are correct.

19
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60 If the object inside the box was made of a material with a refractive index less than 1.5
then the
A. lateral shift of the rays would have been less.
B. lateral shift of the rays would have been more.
C. lateral shift of the rays would remain the same as before.
D. there is not enough information to comment on any of the above statements
*k%k
Questions in lieu of diagram based questions for VI candidates
Total Alternative Questions — 26
Section — A
2. A gas is evolved when Dil. Sulphuric Acid reacts with Zinc granules. It gives a pop sound
when lit match stick is introduced near it. Identify the gas?
A. Nitrogen
B. Hydrogen
C. Oxygen
D. Carbon dioxide
3. Metal X reacts with Dil. HCI to form Metal Salt and Gas. Identify X?
A. Copper
B. Mercury
C. Silver
D. Zinc
5. In the neutralization reaction when excess of acid is added to an alkali, salt and water are
produced. What is the nature of the solution after the reaction occurs?
A. Amphoteric
B. Acidic
C. Basic
D. Neutral
11

Select the option which gives correct function and /or characteristic: of the four parts of
human respiratory system.
A. Alveoli: Thin-walled sac like structures for exchange of gases.

. Diaphragm: It is pulled up when we breathe in.

B
C. Trachea: It is supported by bony rings for conducting inspired air.
D. Ribs: When we breathe out, ribs are lifted.

20
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Identify the option that indicates the correct enzyme that is secreted in location L, M and
N.L, M and N represent Mouth cavity, stomach and small intestine of the human being.
L M N
lipase trypsin pepsin
amylase pepsin trypsin
trypsin amylase lipase

o0 |m|>

lipase amylase pepsin

14

Given below are the functions of some parts of human circulatory system. Identify the
correct match.

A. Pulmonary vein — takes oxygenated blood from body partsto heart

B. Artery — takes oxygenated blood from heart to lung

C. Dorsal aorta — takes deoxygenated blood from heart to body parts

D. Vena cava — takes deoxygenated blood from body parts to right atrium

15

What happens when right and left ventricle contract during pumping of blood by human
heart?

A. Blood transferred to the right ventricle and left ventricle simultaneously.

B. Blood is transferred to lungs for oxygenation and is pumped into various organs
simultaneously.

C. Blood transferred to the right atrium and left atrium simultaneously.

D. Blood is received from lungs after oxygenation and is received from various organs
of the body.

16

i, i, iii and iv represent mouth cavity, liver, first part of small intestine and complete small
intestine respectively of Human digestive system.

Match the labeling referred in column | andcorrelate with the function in column II.
Column | Column Il

[ a. The length of this depends of food the organism eats.

ii b. Initial phase of starch digestion.

iii c. Increase the efficiency of lipase enzyme action.

iv d. This is the site of the complete digestion of carbohydrates,
proteins and fats.

A. i-c;ii—d;iii—a;iv-d
B. i.-b;ii—c;ii—d;iv-a
C. i-ajii—cyii—d;iv-c
D. i.-d;ii—a;ii—b;iv-c

18

If a virtual, erect and enlarged image is formed by a lens, then which of the following
options are correct?

A. ltis a concave lens and the object is placed between pole and focus.

B. Itis a convex lens and the object is placed between focus and centre of curvature.
C. ltis a convex lens and the object is placed between pole and focus.
D

It is a concave lens and the object is placed between focus and centre of curvature.

21
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22

Consider the situation where:

e Anobjectis 3 cm (height)

e Mirror is concave with 6 cm focal length.

o Obiject is placed at the centre of curvature.
Which of the following options are correct?
A. The mirror will produce an image of magnification +1.5.
B. The mirror will produce an image of magnification -1.
C. The mirror will produce an image of magnification +1.
D. The mirror will produce an image of magnification -1.5.

23

If a ray passes from air to glass in a spherical glass slab and passes through the centre
of the slab without deviation, then the angle of incidence from air to glass at the point on
the glass slab is.

A. 45°
B. 0°

C. 90°
D. 180°

24

Out of all colours making the white light, which one will deviate the most while it passes
through a prism?

A. Red.
B. Violet.
C. Blue.
D. Green.

Section - B

26.

Even though rain water is the purest form of water, it acts as an electrolyte. However,
distilled water cannot be an electrolyte.

The reason for this is

A. rain water consists of dissolved oxygen

B. rain water consists of dissolved oxides of sulphur
C. rain water consists of dissolved Nitrogen

D. rain water consists of dissolved oxides of Hydrogen

27.

The reason for different behaviour (floating) of Mg in dil HCI is due to:
A. Mg is lighter element than dil. HCI

B. Mg reacts with dil. HCI to produce H, gas which helps in floating
C. Mg reacts with dil. HCI to produce N, gas which helps in floating
D. Mg reacts with dil. HCI to produce CO, gas which helps in floating

30.

Which of the following solutions are electrolytes?
i. Dil. HCI
ii. Sugar Solution
iii. Alcohol in water
iv. Lime water

22
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A. iandii
B. iandiv
C. ii,iiiand iv
D. i,iiandiv
44, Nalinl draws a ray diagram for an object in front of a concave mirror. She draws a ray
starting from the top of the object and falling on the mirror perpendicularly.
The ray after reflection will
A. pass through focus.
B. pass through pole.
C. pass through the centre of curvature.
D. pass through any point on the principal axis.
45. If the refractive index of water with respect to air is 1.33 and of that of glass with respect
to air is 1.5 then
A. water is optically denser than glass.
B. air is optically densest of all the three media.
C. air’s optical density is between glass and air.
D. glass is optically denser than water.
47. A convex lens has a focal length of 10 cm. The object of height 2 mm is placed at a
distance of 5 cm from the pole. Find the height of the image.
A.4cm
B. 6.67 mm
C.4 mm
D. 3.33 mm
Section - C
Case | A student was—performing an activity to prove the requirements for photosynthesis.
During this activity, he kept two identical healthy potted plantsA and Bin dark for 72
hours. After 72 hours, he covered plant A and B by bell shaped jars separately. While
covering the plants with separate bell jars, he kept KOH in the watch glass by the side of
the plant in setup A and not in setup B. Both these setups were made air tight and were
kept in light for 6 hours. Then, lodine Test was performed with one leaf from each of the
two plants A and B.
53. This experimental set up is used to prove essentiality of which of the following
requirements of photosynthesis?
A. Chlorophyll
B. Oxygen
C. Carbon dioxide
D. Sunlight
54, The function of KOH is to absorb
A. Oxygen.

B. Carbon dioxide.
C. Moisture.
D. Sunlight.
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55. Which of the following statements shows the correct results of lodine Test performed on
the leaf from plant A and B respectively?
A. Blue - black colour would be—obtained on the leaf of plant A
B. Blue - black colour would be—obtained on the leaf of plant B
C. Red colour would be obtained on the leaf of plant A
D. Red colour would be obtained on the leaf of plant B
56. Which of the following steps can be followed for making the apparatus air tight?
i. placing the plants on glass plate
ii. using a suction pump.
iii. applying Vaseline to seal the bottom of jar.
iv. creating vacuum
A. iandii
B. ii. and iii
C. i.andiii
D. ii. And iv
Case | In an experiment, Pooja used a equilateral triangular glass prism and projected a narrow
beam of white light source from one side of the surface of the prism. She placed a
screen on the other side and saw many colours appearing as patches on the screen.
But when she used a red light source, she could only see a red patch on the screen.
Similarly she used a blue and green light source and could only see one colour patch on
both occasions.
57. The phenomenon that she was trying to demonstrate was:
A. Dispersion
B. Reflection
C. Refraction
D. Scattering.
58. The reason why she could no see any other colour when the red light was used was
because:
A. Red colour does not refract in prism.
B. Red colour is monochromatic.
C. The prism was defective.
D. The prism is opaque to red colour.
59. Which of the following can be the correct explanation that Pooja can give to her friends
to explain this phenomenon?
A. Different lights travel faster in the glass prism at different rates.
B. Any light would disperse in the prism.
C. Enough data is not available to make a scientific explanation in this case.
D. Different wavelengths travel at different speeds in the glass.
60. She also could relate to another natural phenomenon that we observe on a rainy humid

day as the sun comes out. What could be that phenomenon?
A. Lightning.

B. Blueness of the sky.

C. Rainbow.

D. Scattering of light.

*k*k
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SAMPLE QUESTION PAPER
CLASS X
Science (086)
Term 2 (2021-22)
Max. Marks:40 Time allowed: 2 hours
General Instructions:
1)  All questions are compulsory.
i1)  The question paper has three sections and 15 questions. All questions are compulsory.
i)  Section—A has 7 questions of 2 marks each; Section—B has 6 questions of 3 marks each; and
Section—C has 2 case based questions of 4 marks each.
iv)  Internal choices have been provided in some questions. A student has to attempt only one of
the alternatives in such questions.

SECTION - A
1 The table shows the electronic structures of four elements. 2
Element Electronic Structure
P 2,6
Q 2,8,1
R 2,8,7
S 2,8,8

a. Identify which element(s) will form covalent bonds with carbon.

b. “Carbon reacts with an element in the above table to form several
compounds.” Give suitable reason.

2 | The diagram below shows part of the periodic table. 2
a. Which elements would react together to form covalent compounds?

b. Between the two elements W and Z, which will have a bigger atomic
radius? Why?

o
Y
W
3 | a. Trace the path a male gamete takes to fertilise a female gamete after being 2

released from the penis.
b. State the number of sets of chromosomes present in a zygote.
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Rajesh observed a patch of greenish black powdery mass on a stale piece of 2
bread.

a. Name the organism responsible for this and its specific mode of asexual
reproduction.

b. Name its vegetative and reproductive parts.

Mustard was growing in two fields- A and B. While Field A produced brown 2
coloured seeds, field B produced yellow coloured seeds.

It was observed that in field A, the offsprings showed only the parental trait for
consecutive generations, whereas in field B, majority of the offsprings showed
a variation in the progeny.

What are the probable reasons for these?

OR

In an asexually reproducing species, if a trait X exists in 5% of a population
and trait Y exists in 70% of the same population, which of the two trait is likely
to have arisen earlier? Give reason.

A simple motor is made in a school laboratory. A coil of wire is mounted on an 2
axle between the poles of a horseshoe magnet, as illustrated.

coil

-

springy contacts (brushes)

In the example above, coil ABCD is horizontal and the battery is connected as
shown.

a. For this position, state the direction of the force on the arm AB.

b. Why does the current in the arm BC not contribute to the turning force on
the coil?

OR

A circuit contains a battery, a variable resistor and a solenoid. The figure
below shows the magnetic field pattern produced by the current in the

solenoid.
e —

: >
magnetic field line
Ii} 11

a. State how the magnetic field pattern indicates regions where the magnetic
field is stronger.




Re-uploaded at Learnmate

b. What happens to the magnetic field when the current in the circuit is
reversed?

DDT was sprayed in a lake to regulate breeding of mosquitoes. How would it
affect the trophic levels in the following food chain associated with a lake?
Justify your answer.

HAWK
LARGE FISH
SMALL FISH
PLANKTON

AQUATIC ENVIORNMENT]

OR

In the following food chain, vertical arrows indicate the energy lost to the
environment and horizontal arrows indicate energy transferred to the next
trophic level. Which one of the three vertical arrows (A, C and E) and which
one of the two horizontal arrows (B and D) will represent more energy
transfer? Give reason for your answer.

ﬁc |
~

e U

Dear
(Horbivone )

A food chain in a forest ecosviten

SECTION - B

Choose an element from period 3 of modern periodic table that matches the
description given below in each instance. Give reason for your choice.

a. It has a similar structure to diamond.
b. It has same valency as Lithium.
c. It has variable valency and is a member of the Oxygen family (group 16).

a. How many isomers are possible for the compound with the molecular
formula C4Hg? Draw the electron dot structure of branched chain isomer.

b. How will you prove that C4Hg and CsHjp are homologues?
OR

A carbon compound ‘A’ having melting point 156K and boiling point 351K,
with molecular formula C,HgO is soluble in water in all proportions.

a. Identify ‘A’ and draw its electron dot structure.

b. Give the molecular formulae of any two homologues of ‘A’.
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10

Two pea plants - one with round yellow seeds (RRYY) and another with
wrinkled green (rryy) seeds produce F1 progeny that have round, yellow
(RrYy) seeds.

When F1 plants are self-pollinated, which new combination of characters is
expected in F2 progeny? How many seeds with these new combinations of
characters will be produced when a total 160 seeds are produced in F2
generation? Explain with reason.

3

11

a. It would cost a man Rs. 3.50 to buy 1.0 kW h of electrical energy from the
Main Electricity Board. His generator has a maximum power of 2.0 kW.
The generator produces energy at this maximum power for 3 hours.
Calculate how much it would cost to buy the same amount of energy from
the Main Electricity Board.(1 Mark)

b. A student boils water in an electric kettle for 20 minutes. Using the same
mains supply he wants to reduce the boiling time of water. To do so should
he increase or decrease the length of the heating element? Justify your
answer.(2 Marks)

12

¢ -

—

ok ﬁ:\} sa  ien % R,

swW—p 2

In the above circuit, if the current reading in the ammeter A is 2A, what would
be the value of R;?

OR

v=24v = R,=10Q R,=4()

Calculate the total resistance of the circuit and find the total current in the
circuit.

13

Gas A, found in the upper layers of the atmosphere, is a deadly poison but is
essential for all living beings. The amount of this gas started declining sharply
in the 1980s.
a. Identify Gas A. How is it formed at higher levels of the atmosphere?
b. Why is it essential for all living beings? State the cause for the depletion
of this gas.
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SECTION -C

This section has 02 case-based questions (14 and 15). Each case is followed by 03 sub-questions
(a, b and c). Parts a and b are compulsory. However, an internal choice has been provided in part c.

14 | Sahil performed an experiment to study the inheritance pattern of genes. He 4
crossed tall pea plants (TT) with short pea plants (tt) and obtained all tall plants
in F1 generation.

a. What will be set of genes present in the F1 generation? (1 Mark)
b. Give reason why only tall plants are observed in F1 progeny. (1 Mark)

c. When F1 plants were self - pollinated, a total of 800 plants were produced.
How many of these would be tall, medium height or short plants? Give the
genotype of F 2 generation. (2 Marks)

OR

When F1 plants were cross - pollinated with plants having tt genes, a total
of 800 plants were produced. How many of these would be tall, medium
height or short plants? Give the genotype of F 2 generation.

15 | Ansari Sir was demonstrating an experiment in his class with the setup as 4
shown in the figure below.

moving magnet—___

galvanometer

stationary coil —

A magnet is attached to a spring. The magnet can go in and out of the
stationary coil.
He lifted the Magnet and released it to make it oscillate through the coil.
Based on your understanding of the phenomenon, answer the following
questions.

a. What is the principle which Ansari Sir is trying to demonstrate?

b. What will be observed when the Magnet starts oscillating through the
coil. Explain the reason behind this observation.

c. Consider the situation where the Magnet goes in and out of the coil. State

two changes which could be made to increase the deflection in the
galvanometer.

OR

Is there any difference in the observations in the galvanometer when the
Magnet swings in and then out of the stationary coil? Justify your answer.

*kk
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SAMPLE QUESTION PAPER 2021-22
TERM |
CLASS X
SOCIAL SCIENCE - CODE 087

TIME-90 MINUTES MM-40M

General Instructions:

1. The Question Paper contains four sections.
2. Section A has 24 questions. Attempt any 20 questions.
3. Section B has 22 questions. Attempt any 18 questions.
4. Section C has 12 questions (Case based). Attempt any 10 questions.
5. Section D contains 2 Map based questions. Attempt both the questions.
6. All questions carry equal marks.
7. There is no negative marking.
SECTION - A
(Attempt any 20 out of 24 questions)
1. | Who among the following was the founder of “Young Europe’ underground secret society
in Berne?
A. Giuseppe Garibaldi
B. Giuseppe Mazzini
C. Count Cavour
D. Otto von Bismark
2. | Which of the following was the result of the Act of Union, 1707?
A. Unification of Germany
B. Unification of the kingdom of Great Britain
C. Unification of Italy
D. Unification of Vietnam
3. | Identify the correct statement with regard to the ‘Zollverein’ from the following options:
A. It was a coalition of Prussian states formed to manage political alliances.
B. Itsaim was to bind the Prussia politically into an association.
C. It was a Custom Union at the initiative of Prussia.
D. It helped to awaken and raise national sentiment in Europe.
4. | Which of the following countries were involved in the Three Wars with Prussia and ended

with victory and unification of Germany?
A. Austria, Poland and France
B. Austria, Denmark and France
C. Austria, Turkey and France

D. Austria, England and France
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Identify the ideology under which people demanded freedom of markets in early-
nineteenth-century Europe.

A. Romanticism

B. Liberalism

C. Socialism

D. Rationalism

Choose the correctly matched pair about the crops and the areas they are grown in:

A. Groundnut- Assam

B. Tea- Gujarat

C. Coffee- Karnataka

D. Sugarcane — Chhattisgarh

The piece of land left uncultivated for the past 1 to 5 agricultural years is called

Choose the correct option:

A. Barren land
B. Forest land
C. Grazing land
D. Fallow land

Which one of the following conferences was convened to discuss environmental
protection and socio-economic development at the global level in 19927

A. Kyoto Protocol

B. Montreal Protocol

C. Rio de Janeiro Earth Summit

D. World Summit on Sustainable Development

India has land under a variety of relief features. Which of the following features ensure
perennial flow of some rivers, provide facilities for tourism and ecological aspects?

Plains
Plateaus
Islands
Mountains

OOw>»

10.

Which one of the following human activities has contributed significantly in land
degradation?

A. Deforestation
B. Crop rotation
C. Shelter belts
D. Ploughing
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11.

Which one of the following countries adopted majoritarianism in their Constitution?

A. Nepal
B. India
C. SrilLanka
D. Bangladesh

12.

Identify the significant reason of power sharing from the following options.

A. Reduces socio-economic conflicts

B. Provides ethnic -cultural development
C. Allows people to enjoy specific rights
D. Restricts supremacy of one party

13.

Apart from the Central and the State Government, Belgium has a third kind of government
as well. Identify this third kind of government from the following options:

A. Democratic Government
B. Socialist Government

C. Community Government
D. Liberal Government

14.

Which of the following countries is an example of ‘Coming Together Federation’?

A. India
B. Sri Lanka
C. USA
D. Belgium

15.

Why is the power shared amongst different organs of government called as horizontal
distribution of power? Identify the correct reason.

A. It gives judiciary more power than legislature and executive.

B. Itallows different organs of government to be placed at the same level.

C. It gives representation to different ideologies at political level.

D. Itinfluences and coordinates in the decision-making process.

16.

In India’s federal system, the Central and the State governments have the power to
legislate on all those subjects which are included in the:

A. Union list

B. State list

C. Concurrent list
D. Residuary subjects

17.

Which of the following states of India enjoy special powers under Article 371A of the
Constitution of India?

Nagaland
Rajasthan
Himachal Pradesh
Tamil Nadu

COow>
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18.

Which one the following is an example of Primary Sector activity?

A. Baking
B. Outsourcing
C. Farming
D. Banking

19.

Which of the following measures the proportion of literate population in the seven and
above age group?

A. Net Attendance Ratio
B. Enrolment Rate

C. Literacy Rate

D. Drop out Ratio

20.

Which one of the following is the correct meaning of ‘Average Income’?

A. The total income of the country divided by its earning population.
B. The total income of the country divided by its total population.

C. The total income of all the residents of the country.

D. The total income from the domestic and foreign sources.

21.

Which one of the following best describes Human Development Index (HDI)?

A. Improvement in science, information and technology
B. Improvement in health, education and income

C. Improvement in information and communication

D. Improvement in investment, finance and technology

22.

“Consequences of environmental degradation do not respect national or state boundaries.”
Which of the following is the essence of this statement?

A. Economic development
B. Human Development

C. Sustainable Development
D. National Development

23.

Which of the following examples fall under an organized sector?

A. A daily wage labourer working for a contractor.
B. An engineer getting all employment benefits.
C. Acleaning staff in a private school

D. Actailor stitching clothes at his home.

24,

Mahatma Gandhi National Rural Employment Guarantee Act 2005 states a guarantee of
minimum 100 days of employment per year. If government is unable to fulfil these 100
days of an employment, the government would have t0----------======mmmrmmmcmmmmeean
Choose the correct option:

A. Pay the compensation in lieu of these days

B. Provide another scheme for the same

C. Pay at least 1/3 percent allowance

D. Provide health care as compensation
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SECTION -B
(Attempt any 18 out of 22 questions)

25.

Following image is the personification of Germany commonly associated with the
Romantic Era and the Revolutions of 1848. Identify its name from among the following
options.

Options:

A. Marianna
B. Philip Viet
C. Germania
D. La ltalia

NOTE: Following question is for Visually impaired candidates in lieu of Q25.

Identify the name of the Prussian King who was proclaimed German Emperor in a
ceremony held at Versailles.

A. William |
B. William Il
C. Henry VII
D. Louis IV

26.

Which of the following option(s) is/are correct about Balkan nationalism?
I. The Balkan region became part of the conflict because of the Ottoman Empire.
I1. The region comprised of ethnic groups included Greeks, Serbs, Montenegro, etc.
[11. British and ethnic nationalities struggled to establish their identity.
Options:
A &Il
B. Il &Il
C. Only I
D. Only 1
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27.

Why did the weavers in Silesia revolt against contractors in 1845? Identify the appropriate
reason from the following options.

A. Contractors did not pay their dues

B. Contractors appointed few on high posts

C. Contactors used government policies

D. Contractors gave them loans on high interests

28.

Identify the major aspect that helped in the formation of a nation-state in Britain.

A. In 1688, the monarch of Britain fought war with English Parliament.

B. The Parliament through a bloodless revolution seized power from the monarchy.
C. The British nation was formed as a result of a war with Ireland and Wales.

D. The formation of a nation-state in Britain was the result of many revolts.

29.

Identify the soil with the help of clues given below —
. develops in areas with high temperature and heavy rainfall
« is low in humus content
. found in the hilly areas of Karnataka, Kerala and Tamil Nadu

A. Forest soil
B. Yellow soil
C. Black soil
D. Laterite soil

30.

Which of the following categories of resources can we put Tidal energy in?

A. Renewable resources

B. Non-renewable resources
C. Actual resources

D. Potential resources

31.

Consider the following statements on power sharing and select the answer using the codes
given below:

I.  Itis good for democracy.
Il. It creates harmony in different groups
I11. It brings transparency in the governance.
IV. It brings socio-political competition among parties.

Options:

A L ITT&ITT
B. I, Nl &IV
C. LIN&IvV
D. LIl &IV

32.

How does Judiciary act as an umpire in a federal nation?

A. Judiciary rules over Centre and State

B. Centre and Judiciary work collectively

C. Courts can change structure of Constitution

D. Courts use the power to interpret the Constitution
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33.

Two statements are given in the question below as Assertion (A) and Reasoning (R). Read
the statements and choose the appropriate option.

Assertion (A): Sri Lanka adopted Sinhala as the only official language of the state.

Reason (R): The government of Sri Lanka wanted to foster their culture, language and
religion.

Options:

A. Both A and R are true, and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A.

C. Alistrue but R is false.
D. A'is false but R is true

34.

Match the following items given in Column A with those in Column B.
Column A Column B
I.  Information Technology 1. Concurrent List

II. Police 2. Union List
I11.  Education 3. State List
IV. Defence 4. Residuary Subjects

Choose the correct answer from the option given below:
A. 1-4,11-3, 111-1, IV-2

B. I-3, 11-4, 11I-1, IV-2

C. 1-4,11-1, 111-3, IV-2

D. I-4,11-2, 11I-1, IV-3

35.

Anita is appearing in an examination conducted for recruitment to Central Government
positions. In how many languages as mentioned in the 8™ Schedule can she opt to take the
exam? Select the appropriate option.

A. 18
B. 21
C. 22
D. 25

36.

Identify the administrative system of Indian Government with the help of the following
information.

e Power shared between Central and State Governments to Local
Governments.

e |tis called as a third tier of the Government.

e The State Governments are required to share some powers and revenue
with them.




Re-uploaded at Learnmate

Select the appropriate option from the following.

A. Federal system

B. Unitary Federal system
C. Decentralised system
D. Unitary system

37. | Which of the following options prove that India is a quasi-federal state?
I.  More powers with Centre
Il.  Residuary subjects with Centre
[1l.  Equal subjects with Centre and States
IV.  Currency and Railways with Centre
Options:
A LLIIN&IV
B. LI&IV
C. IL &IV
D. I &IV
38. | Identify the correct statement/s about the theory of Federalism in the Indian Constitution.
I.  The Constitution declared India as a Union of States.
Il.  Sharing of power between the Union Government and the State governments is
basic to the structure of the Constitution.
I11.  Itis easy to make changes to this power sharing arrangement.
IV.  The Parliament can on its own change this arrangement.
Options:
Al &ll
B. 11 &l
C.l1 &Il
D. I &IV
39. | Two statements are given in the question below as Assertion (A) and Reasoning (R). Read

the statements and choose the appropriate option.

Assertion (A): Human Development mentions how much socio-economic development
has happened in a country.

Reason (R): Comparison of national income of two countries explains Human
Development Index.

Options:
A. Both A and R are true, and R is the correct explanation of A.
B. Both A and R are true, but R is not the correct explanation of A.
C. Alistrue but R is false.
D. Als false but R is true.

40.

Choose the correct option from the following:
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List I (Example)
A. Courier

List 11 (Sectors)
Tertiary Sector

B. Fisherman Secondary Sector
C. Carpenter Primary Sector
D. Transporter Secondary Sector

41.

Read the following data and information carefully and select the most appropriate answer

from the given options:

TABLE FOR COMPARISON OF THREE COUNTRIES
Monthly income of citizens in 2007 (in Rupees)
|[Countries
| I i v Vv
[Country A 9500 10500 9800 10000 10200
|Country B 500 500 500 500 48000
|Country C 5000 1000 15000 4000 25000

Rita is an employee of a multinational company who gets transferred to different countries
after every three years of service. She has been given an opportunity to choose any one
out of the three countries mentioned in the table above as her next job location. She
calculates average income of all these countries as per the given data and chooses to be
transferred to Country A.

Identify the reason for which Rita has chosen country A.

A. Most of its citizens are rich and stable

B. Has most equitable distribution of income
C. National income of its citizens is higher
D. Average income of its citizens is lower

42.

Vijay is undernourished as his weight is 45 kgs and his height is 1.78 meters. Find out his
Body Mass Index (BMI) from the following options.

A. 126

B. 135

C. 147

D. 15.2

43.

A woman works at a sweet shop in her village on a contract basis and gets meagre salary
after working the entire day. She doesn’t get any holidays or paid leave, rather her
employer deducts her salary whenever she is absent from work. Find out in which of the
following sectors she is working?

A. Primary Sector

B. Service Sector

C. Organized Sector

D. Unorganised Sector
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44,

According to 2017-2018 data, the share of different sectors in employment (percentage)
in India was

® Primary Sector - 44%

® Secondary Sector - 25%

® Tertiary Sector - 31%

Out of the three sectors, why did the ratio of employment in Primary Sector high? Select
the most suitable option from the following:

A. Workers in the Primary Sector are underemployed

B. Low job opportunities in Secondary Sector

C. Efforts of labour are not equivalent in all the sectors
D. Outsourcing of job opportunities in Secondary Sector

45.

Two statements are given in the question below as Assertion (A) and Reasoning (R). Read
the statements and choose the appropriate option.

Assertion (A): Crude oil reserves in the entire world are depleting, we need to find a
sustainable substitute for it.

Reason (R): Oil and petrol prices are increasing day by day.
Options:

A. Both A and R are true, and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A.
C. Aistrue but R is false.

D. Aisfalse but R is true

46.

A man is employed on a food processing farm where he has to do a lot of manual work.
His wife and daughter also help him in his work on the farm every day. Which type of
employment is this an example?

Under employment
Seasonal employment
Over employment
Cyclical employment

Cow>»

SECTION-C

(This section consists of two cases. There are total of 12 questions in this section.
Attempt any 10 questions from this section.)

Read the source given below and answer the questions by choosing the most
appropriate option:

Grimms’ Fairy Tales is a familiar name in Germany. The brothers Jacob and Wilhelm
Grimm were born in the German city of Hanau. While both of them studied law, they soon
developed an interest in collecting old folktales. They spent six years travelling from
village to village, talking to people and writing down fairy tales, which were handed down
through the generations. These were popular both among children and adults.
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In 1812, they published their first collection of tales. Subsequently, both the brothers
became active in liberal politics, especially the movement for freedom of the press. In the
meantime, they also published a 33-volume dictionary of the German language.

The Grimm brothers also saw French domination as a threat to German culture and
believed that the folktales they had collected were expressions of a pure and authentic
German spirit. They considered their projects of collecting folktales and developing the
German language as part of the wider effort to oppose French domination and create a
German national identity.

47. Why did the Grimm brothers give the tales a readable form without changing their
folkloric character? Choose the correct option from the following:
A. The collection enjoyed wide distribution in Germany.
B. It became a model for the collecting of fantasy tales.
C. It formed the basis for the science of the language.
D. People easily accepted their written adventurous tales.
48. The impact of literary contributions of Grimm brothers was widespread. Identify the best
suitable option depicting the same from the following:
A. Development of cities and towns
B. Setting up of new political parties
C. Promotion of ethnic belonging
D. Emergence of socialist ideology
49. Fill in the blank from the given options
The work of the Grimm Brothers influenced and inspired people to collect tales. They
believed in a spirit of and considered it essential for the reflection of
national identity.
A. Culturalism
B. Conservatism
C. Extremism
D. Liberalism
50. Why the foreign domination was considered a threat to nation building? Select the best
suitable option from the following in reference to the context.
A. Exploitation of natural resources
B. Erosion of native values and ethos
C. Violence and mass killing of people
D. Spread of new diseases in the country
51. How were the Germans able to connect with their culture? With reference to the above

context, infer the appropriate option.

A. Through the feeling of formal way of communication

B. Through the feeling of oneness as European community

C. Through the feeling of collective belonging among nationals
D. Through the feeling of coherence in reference to mannerism
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52.

Two statements are given in the question below as Assertion (A) and Reasoning (R). Read
the statements and choose the appropriate option.

Assertion A: Regimes of 1815 did not tolerate criticism and dissent.
Reason (R): Conservative regimes were autocratic.

Options:

A. Both A and R are true, and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A.

C. Aiistrue but R is false.
D. A'is false but R is true.

Read the source given below and answer the questions by choosing the most
appropriate option:

There has been a gradual shift from cultivation of food crops to cultivation of fruits,
vegetables, oil-seeds and industrial crops. This has led to the reduction in net sown area
under cereals and pulses. With the growing population of India, the declining food
production puts a big question mark over the country’s future food security.

The competition for land between non-agricultural uses such as housing etc. and
agriculture has resulted in reduction in the net sown area. The productivity of land has
started showing a declining trend. Fertilisers, pesticides and insecticides, which once
showed dramatic results, are now being held responsible for degrading the soils. Periodic
scarcity of water has led to reduction in area under irrigation. Inefficient water
management has led to water logging and salinity.

53.

One can infer from the above given information that marginal and small farmers have been
pushed out of cultivation. Which one of the following is the prominent cause?

A. Food and fruit crops are expensive in market

B. Shift to multifarious crops according to demand

C. Periodic scarcity of water in many regions

D. Soil degradation and extensive Green Revolution

54,

Read the following statements and find the correct from the given options:
I.  Indian farmers are diversifying their cropping pattern.

Il.  They are shifting production from cereals to fruits, vegetables, etc.
1. Jute is in high demand in the Indian market.
Options:

A &Il

B. &Il

C. 11 Only

D. Il Only

55.

According to the information given above, there has been reduction in the net sown area
under cereals and pulses. Identify the reason.

A. Lack of markets to sell cereals and pulses

B. Earn more income from non-agricultural sector

C. Need of huge labour in cultivating cereals and pulses

D. Availability of more profits from commercial crops
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56.

‘Fertilisers, pesticides and insecticides, which once showed dramatic results, are now
being held responsible for degrading the soil.” Infer the positive effects of these inputs
noticed earlier from the following statements.

A. These inputs have shown increased outputs and productivity.

B. These are integral to the process of reducing agrarian losses.

C. These inputs can cut the amount of harvestable produce.

D. These are the leading causes of mortality and health problems.

S7.

There are states in India which are using fertilisers, pesticides and insecticides at excessive
level to increase their agricultural production. Identify the states which are at prominent
level from the following options.

A. Karnataka and Kerala

B. Haryana and Punjab

C. Punjab and Gujarat

D. Haryana and Telangana

58.

Food production provides the base for food security and is a key determinant of food
availability. Why is this trend shifting towards industrial crops? Choose the correct option
in reference to the context.

A. To improve the land use pattern

B. To use intensive farming techniques

C. To improve the fertility of soil

D. To fetch more income and high earnings

Section D
(Attempt both the Map based questions)

On the given outline map of India, identify the locations with the help of specified
information.

INDIA

OUTLINE MAP WITH STATES
& UNION TERRITORN S

.......
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59.

On the political map of India, ‘A’ is marked as a Dam. Identify it from the following
options.

A. Salal

B. Bhakra-Nangal
C. Tehri

D. Rana Pratap Sagar

60.

On the same map, ‘B’ is also marked as a major Tea cultivating state. Identify it from the
following options.

A. Assam
Punjab
Bihar
Gujarat

CoOow

NOTE- The following questions are for the Visually Impaired Candidates in lieu of
questions 59 and 60.

59. Which of the following dam is located in Uttarakhand?

A. Salal

B. Bhakra Nangal
C. Tehri

D. Rana Pratap Sagar

60. Which one of the following is a principal cereal crop?

A Rice
B. Wheat
C. Jowar
D Bajra
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SAMPLE QUESTION PAPER 2021-22
TERM 11
CLASS X
SOCIAL SCIENCE - CODE 087

Time Allowed: 2 Hours Maximum Marks: 40

General Instructions:

I. This Question paper is divided into five sections-Section A, B, C, D and E.
ii. All questions are compulsory.
ii. Section-A: Question no. 1 to 5 are very short answer type questions of 2 marks each.
Answer to each question should not exceed 40 words.
iv. Section-B: Question no. 6 to 8 are short answer type questions, carrying 3 marks each.
Answer to each question should not exceed 80 words.
v. Section-C: Question no. 9 and 10 are long answer type questions, carrying 5 marks each.
Answer to each question should not exceed 120 words.
vi. Section-D: Question no. 11 and 12 are Case Based questions.
vii. Section-E: Question no. 13 is map based, carrying 3 marks with two parts, 13.1 from
History (1 mark) and 13.2 from Geography (2 marks).
viii. There is no overall choice in the question paper. However, an internal choice has been
provided in a few questions. Only one of the choices in such questions have to be attempted.
ix. Inaddition to this, separate instructions are given with each section and question, wherever
necessary.

SECTION-A 2X5
Very Short Answer Questions =10

1 How did the Non-Cooperation Movement unfold in the cities and towns of India? 2

2 Why is tourism considered as a trade? 2
3 Differentiate between one party and two party system. 2
4 State the role of Reserve Bank of India. 2
5 Read the data in the table given below and answer the questions that follow: 2
Total production of finished steel in India
Year Production
(in million tonnes)
2015- 2016 106.60
2016-2017 120.14
2017- 2018 126.85
2018-2019 101.29
2019-2020 102.62

Source: Ministry of Steel, Government of India (NCERT)

5.1 Compare the 2015-2016 and 2019-2020 data and give any one reason for the
reduction of production of steel in 2019-2020. 1)



10.

11.
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5.2 Why is production and consumption of steel considered as an index of a
country’s development? 1)

Section-B
Short Answer Type Questions

Why do most of the rural households still remain dependent on the informal
sources of credit? Explain.

OR
How do Self Help Groups help borrowers to overcome the problem of lack of
collateral? Explain.

“Tribal peasants interpreted the message of Mahatma Gandhi and the idea of
swaraj in another way and participated in the Non-Cooperation Movement
differently.” Justify the statement.

Examine the role of Political Parties in a democratic country.

Section-C
Long Answer Type Questions
Democracy’s ability to generate its own support is itself an outcome that cannot
be ignored.” Support the statement with examples.
OR
‘There is an overwhelming support for the idea of democracy in South Asia.’
Support the statement with examples.

Examine the role of Information Technology in stimulating the process of
globalization.

OR
Assess the impact of globalization on India and its people.

Section-D
Case Based Questions

Read the given text and answer the following questions:

‘It is said of “passive resistance” that it is the weapon of the weak, but the power
which is the subject of this article can be used only by the strong. This power is
not passive resistance; indeed, it calls for intense activity. The movement in South
Africa was not passive but active ...

‘Satyagraha is not physical force. A satyagrahi does not inflict pain on the
adversary; he does not seek his destruction ... In the use of satyagraha, there is
no ill-will whatever.

‘Satyagraha is pure soul-force. Truth is the very substance of the soul. That is
why this force is called satyagraha. The soul is informed with knowledge. In it
burns the flame of love. ... Nonviolence is the supreme dharma ... It is certain
that India cannot rival Britain or Europe in force of arms. The British worship
the war-god and they can all of them become, as they are becoming, bearers of
arms. The hundreds of millions in India can never carry arms. They have made
the religion of non-violence their own ...’

11.1. Why did Gandhiji consider nonviolence as supreme dharma? 1)

3X3

5x2
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11.2 How was Gandhian satyagraha taken by the people who believed in his

philosophy? (D)
11.3 Why was Gandhian satyagraha considered as a novel way to resist injustice?
(2)
12.  Read the given text and answer the following questions: 4

Ever since humans appeared on the earth, they have used different means of
communication. But, the pace of change, has been rapid in modern times. Long
distance communication is far easier without physical movement of the
communicator or receiver. Personal communication and mass communication
including television, radio, press, films, etc. are the major means of
communication in the country. The Indian postal network is the largest in the
world. It handles parcels as well as personal written communications. Cards and
envelopes are considered first-class mail and are airlifted between stations
covering both land and air. The second-class mail includes book packets,
registered newspapers and periodicals. They are carried by surface mail,
covering land and water transport. To facilitate quick delivery of mails in large
towns and cities, six mail channels have been introduced recently. They are called
Rajdhani Channel, Metro Channel, Green Channel, Business Channel, Bulk Mail
Channel and Periodical Channel.

12.1 Examine the role of the Indian postal network. 1)
12.2 Differentiate between mass communication and personal communication.
oy
12.3 Analyse the significance of communication for a nation. 2
Section-E 1x3

Map Skill Based Question =
13. 13.1 On the given outline Political Map of India, identify the place marked as A 3
with the help of following information and write its correct name on the line
marked near it.

(A)The place where Non Cooperation Movement was called off due to violence.

(1)

13.2 On the same given map of India, locate the following:
(I) Namrup Thermal Plant @
OR
Noida Software Technology Park
(1) Raja Sansi (Sri Guru Ram Dass Jee) International Airport 1)
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INDIA

PN

Note: The following question is for Visually Impaired Candidates only in lieu

of Q. No.13.1
13.1 Name the State where the session of Indian National Congress was held in
1927. 1)

Note: The following questions are for Visually Impaired Candidates only in
lieu of Q. N0.13.2. Attempt ANY TWO questions.

13.2 Name the State where Namrup Thermal Plant is located. Q
13.3 Name the State where Noida Software Technology Park is located. (1)

13.4 Name the city where Raja Sansi (Sri Guru Ram Dass Jee) International
Airport is located. )
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Sample Question Paper
Class- X Session- 2021-22
TERM 1
Subject- Mathematics (Basic)
Time Allowed: 90 minutes Maximum Marks: 40

General Instructions:

1. The question paper contains three parts A, B and C.

2. Section A consists of 20 questions of 1 mark each. Attempt any 16 questions.

3. Section B consists of 20 questions of 1 mark each. Attempt any 16 questions.

4. Section C consists of 10 questions based on two Case Studies. Attempt any 8 questions.
5. There is no negative marking.

SECTION A
Section A consists of 20 questions. Any 16 questions are to be attempted
Q.NO. MARKS
1 A box contains cards numbered 6 to 50. A card is drawn at random from the box. The 1
probability that the drawn card has a number which is a perfect square like 4,9....is
(a) 1/45
(b) 2/15
(c) 4/45
(d) 1/9
2 In a circle of diameter 42cm ,if an arc subtends an angle of 60 ° at the centre where 1
TT1=22/7,then the length of the arcis
(a) 22/7 cm
(b) 11cm
(c) 22cm
(d) 44 cm
3 If sin© = x and sec® =y, then tan® is 1
(a) xy
(b) x/y
(c) y/x
(d) 1/xy
4 The pair of linear equations y =0 and y =-5 has 1
(a) One solution
(b) Two solutions
(c) Infinitely many solutions
(d) No solution
5 A fair die is thrown once. The probability of even composite number is 1
(a) O
(b) 1/3
(c) 3/4
(d) 1
6 8 chairs and 5 tables cost Rs.10500, while 5 chairs and 3 tables cost Rs.6450. The cost of 1
each chair will be
(a) Rs. 750
(b) Rs.600
(c) Rs.850
(d) Rs.900
7 If cos®+c0s?0 =1,the value of sin6+sin*6 is 1
(a) 1
(b) O
(c) 1
(d) 2
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The decimal representation of will be

23 x 52

(a) Terminating

(b) Non-terminating

(c) Non-terminating and repeating

(d) Non-terminating and non-repeating

1

The LCM of 23X3% and 22X33is
(a) 23
(b) 33
(c) 23x33
(d) 22x32

10

The HCF of two numbers is 18 and their product is 12960. Their LCM will be
(a) 420
(b) 600
(c) 720
(d) 800

11

In the given figure, DE Il BC. Which of the following is true?

12

The co-ordinates of the point P dividing the line segment joining the points A (1,3) and B (4,6)

internally in the ratio 2:1 are
(a) (2,4)
(b) (4,6)
(c) (4,2)
(d  (3)5)

13

The prime factorisation of 3825 is
(a) 3x5%21
(b) 3%x52x35
(c) 3%x52x17
(d) 3%x25x17

14

In the figure given below, AD=4cm,BD=3cm and CB=12 cm, then cot® equals
[

P

C B
(a) 3/4
(b) 5/12
(c) 4/3
(d) 12/5
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15

If ABCD is a rectangle , find the values of x and y

B\—‘L-\—‘j—\c
7
(a) X=10,y=2
(b) X=12,y=8

(c) X=2,y=10
(d) X=20,y=0

.
i

1

16

In an isosceles triangle ABC, if AC=BC and AB°=2AC?, then the measure of angle C will be
(a) 30°
(b) 45°
(c) 60°
(d) 90°

17

If -1 is a zero of the polynomial p(x)=x*-7x-8 , then the other zero is
(a) -8
(b) -7
(c) 1
(d) 8

18

In a throw of a pair of dice, the probability of the same number on each die is
(a) 1/6
(b) 1/3
(c) 1/2
(d) 5/6

19

The mid-point of (3p,4) and (-2,2q) is (2,6) . Find the value of p+q
(@) 5
(b) &
(c) 7
(d) 8

20

147
The decimal expansion ofa will terminate after how many places of decimals?

(@) 1
(b) 2
(c) 3
(d) 4

SECTION B

Section B consists of 20 questions of 1 mark each. Any 16 questions are to be attempted

21

The perimeter of a semicircular protractor whose radius is ‘r’ is
(a) T+ 2r
(b) T+
(c) mr
(d) T + 2r

22

If P (E) denotes the probability of an event E, then

(a) 0<P(E) K1
(b) O<P(E)<1
(c) 0<P(E)<1
(d) ogP(E) <1
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23

In AABC, <B=90° and BD L AC. If AC = 9cm and AD = 3 cm then BD is equal to
(a) 2v2cm
(b) 3v2cm
(c) 2v3cm
(d) 3v3cm

1

24

The pair of linear equations 3x+5y=3 and 6x+ky=8 do not have a solution if
(a) K=5
(b) K=10
(c) k=10
(d) k=5

25

If the circumference of a circle increases from 27T to 4] then its area
area

(a) Half

(b) Double

(c) Threetimes

(d) Fourtimes

the original

26

Given that sinB=a/b ,then tan® is equal to
(@) T
®) T
© Jo

a

) oz

27

If x = 2sin’© and y = 2cos?6©+1 then x+y is
(@) 3
(b) 2
(c) 1
(d) 1/2

28

If the difference between the circumference and the radius of a circle is 37cm ,[[=22/7, the
circumference (in cm) of the circle is

(a) 154

(b) 44

(c) 14

(d) 7

29

The least number that is divisible by all the numbers from 1 to 10 (both inclusive)
(a) 100
(b) 1000
(c) 2520
(d) 5040

30

Three bells ring at intervals of 4, 7 and 14 minutes. All three rang at 6 AM. When will they
ring together again?

(a) 6:07 AM

(b) 6:14 AM

(c) 6:28 AM

(d) 6:25 AM

31

What is the age of father, if the sum of the ages of a father and his son in years is 65 and
twice the difference of their ages in years is 50?

(a) 40years

(b) 45 years

(c) 55 years

(d) 65 years

32

What is the value of (tan® cosec8)?-(sin® secB)?
(a) -1
(b) O
(c) 1
(d) 2
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33

The perimeters of two similar triangles are 26 cm and 39 cm.The ratio of their areas will be
(a) 2:3
(b) 6:9
(c) 4:6
(d) 4:9

1

34

There are 20 vehicles-cars and motorcycles in a parking area. If there are 56 wheels
together, how many cars are there?

(a) 8

(b) 10

(c) 12

(d) 20

35

A man goes 15m due west and then 8m due north. How far is he from the starting point?
(a) 7m
(b) 10m
(c) 17m
(d) 23m

36

What is the length of an altitude of an equilateral triangle of side 8cm?
(a) 2v3cm
(b) 3v3cm
(c) 4v3cm
(d) 5v3cm

37

If the letters of the word RAMANUJAN are put in a box and one letter is drawn at random.
The probability that the letteris A is

(a) 3/5

(b) 1/2

(c) 3/7

(d) 1/3

38

Area of a sector of a circle is 1/6 to the area of circle. Find the degree measure of its minor
arc.

(a) 90°

(b) 60°

(c) 45°

(d) 30°

39

A vertical stick 20m long casts a shadow 10m long on the ground. At the same time a tower
casts a shadow 50m long. What is the height of the tower?

(a) 30m

(b) 50m

(c) 80m

(d) 100m

40

What is the solution of the pair of linear equations 37x+43y=123, 43x+37y=1177
(a) x=2y=1
(b) x=-1y=2
(c) x=-2,y=1
(d) x=1y=2

SECTION C
Case study based questions

Section C consists of 10 questions of 1 mark each. Any 8 questions are to be attempted.

Case Study -1
Pacific Ring of Fire
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The Pacific Ring of Fire is a major area in the
basin of the Pacific Ocean where many
earthquakes and volcanic eruptions occur. In a
large horseshoe shape, it is associated with a
nearly continuous series of oceanic trenches,
volcanic arcs, and volcanic belts and plate
movements.
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Positions of some countries in the Pacific ring of fire is shown in the square grid below.
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Based on the given information, answer the questions NO. 41-45
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41 | The distance between the point Country A and Country B is 1
(a) 4 units
(b) 5 units
(c) 6 units
(d) 7 units
42 | Find a relation between x and y such that the point (x,y) is equidistant from the Country C and 1
Country D
(a) x-y=2
(b) x+y=2
(c) 2x-y=0
(d) 2x+y =2
43 | The fault line 3x + y — 9 = 0 divides the line joining the Country P(1, 3) and 1
Country Q(2, 7) internally in the ratio
(a)3:4
(b)3:2
(c)2:3
(d)4:3
44 | The distance of the Country M from the x-axis is 1
(a) 1 units
(b) 2 units
(c) 3 units
(d) 5 units
45 | What are the co-ordinates of the Country lying on the mid-point of Country A and Country D? 1
(@) (1,3)
(b) (2,9/2)
(c) (4,5/2)
(d) (9/2,2)
Case Study -2
ROLLER COASTER POLYNOMIALS
/\. Polynomials are everywhere. They play a key role in
the study of algebra, in analysis and on the whole
many mathematical problems involving them.
Since, polynomials are used to describe curves of
various types engineers use polynomials to graph
the curves of roller coasters.
N4 . N
\ https://images.app.goo.gl/WfcM1aRTHjjqtyT27
Based on the given information, answer the questions NO. 46-50.
46 | If the Roller Coaster is represented by the following graph y=p(x) , then name the type of the 1

polynomial it traces.
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(a) Linear

(b) Quadratic
(c) Cubic

(d) Bi-quadratic

47

The Roller Coasters are represented by the following graphs y=p(x). Which Roller Coaster has 1
more than three distinct zeroes?

(a)

| -

(c)
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(d)

48

If the Roller Coaster is represented by the cubic polynomial t(x)= px>+gx*+rx+s ,then which of the | 1

following is always true
(a) sz0
(b) rz0

49

number of zeroes?
(@) O
(b) 1
(c) 2
(d) 3

50

-4 - -2 1
I

If the path traced by the Roller Coaster is represented by the above graph y=p(x), find its zeroes?

(a) -3,-6,-1
(b) 2,-6,-1
(c) -3,-1,2
(d) 3,1,-2
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Sample Question Paper
Class — X Session -2021-22
TERM 1

Subject- Mathematics (Standard) 041
Time Allowed: 90 minutes Maximum Marks: 40

General Instructions:

1. The question paper contains three parts A, B and C

2. Section A consists of 20 questions of 1 mark each. Any 16 questions are to be attempted
3. Section B consists of 20 questions of 1 mark each. Any 16 questions are to be attempted
4 Section C consists of 10 questions based on two Case Studies. Attempt any 8 questions.

5. There is no negative marking.

SECTION A

Section A consists of 20 questions of 1 mark each. Any 16 questions are to be attempted

Q No Marks

1 The ratio of LCM and HCF of the least composite and the least prime numbers is 1
(@1:2 (b) 2:1 (c)1:1 (d) 1:3

2 The value of k for which the lines 5x+7y=3 and 15x + 21y = k coincide is 1
@9 (b) 5 ()7 (d) 18

3 A girl walks 200m towards East and then 150m towards North. The distance of the girl 1
from the starting point is

(2)350m (b) 250m (c) 300m (d) 225
4 The lengths of the diagonals of a rhombus are 24cm and 32cm, then the length of the 1
altitude of the rhombus is
(@) 12cm (b) 12.8cm (c)19cm (d) 19.2cm

5 Two fair coins are tossed. What is the probability of getting at the most one head?
(@) % (b) Y4 (c) ¥ (d) 3/8 1

6 AABC~APQR. If AM and PN are altitudes of AABC and APQR respectively and AB?: 1
PQ?=4:09, then AM:PN =

(a) 16:81 (b) 4:9 (c) 3:2 (d) 2:3

7 If 2sin?B — cos?p = 2, then B is 1
(@) 0° (b) 90° (c) 45° (d) 30°

8 Prime factors of the denominator of a rational number with the decimal expansion 1

44.123 are

(@ 2,3 (b) 2,3,5 (c) 2,5 (d) 3,5

9 The linesx=aandy = b, are 1
(a) intersecting (b) parallel (c) overlapping (d) (None of these)

10 | The distance of point A(-5, 6) from the origin is 1
(a) 11 units (b) 61 units (c) V11 units (d) V61 units

11 | Ifa2=23/25, thenais
(a) rational (b) irrational (c) whole number  (d) integer 1
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12 | If LCM(x, 18) =36 and HCF(x, 18) =2, then x is 1
(a) 2 (b) 3 (c) 4 (d)5
13 | In AABC right angled at B, if tan A= +/3, then cos A cos C- sin Asin C = 1
(@-1 (b) 0 (c)1 (d) v3/2
14 | If the angles of AABC are in ratio 1:1:2, respectively (the largest angle being  angle 1
secA tanA .
C), then the value of — is
cosecB cotB
(@) 0 (b) 1/2 (1 (d) V372
15 | The number of revolutions made by a circular wheel of radius 0.7m in rolling a distance | 1
of 176m is
(a) 22 (b) 24 (c) 75 (d) 40
16 AABC is such that AB=3 cm, BC=2cm, CA=2.5 cm. If AABC ~ ADEF and EF= |1
4cm, then perimeter of ADEF is
(@ 7.5cm (b) 15cm (c) 22.5¢cm (d) 30 cm
17 | Inthe figure, if DE|| BC, AD = 3cm, BD = 4cm and BC= 14 cm, then DE equals 1
A
D E
B C
(@) 7cm (b) 6cm (c) 4cm (d) 3cm
18 | [f4 tanB = 3, then 25nE=3cosB _ 1
! 4sin f+3cosf
@~o (b) 1/3 (c) 213 (d) %
19 | One equation of a pair of dependent linear equations is —5x + 7y = 2. The second equation 1
can be
a) 10x+14y +4=0 b) -10x-14y+4=0 ) -10x+14y+4=0 (d) 10x—14y=-4
20 | A letter of English alphabets is chosen at random. What is the probability that it is a letter | 1
of the word ‘MATHEMATICS’?
(a) 4/13 (b) 9/26 (c) 5/13 (d) 11/26
SECTION B
Section B consists of 20 questions of 1 mark each. Any 16 questions are to be attempted
ON MARKS
21 | If sum of two numbers is 1215 and their HCF is 81, then the possible number of pairs | 1
of such numbers are
(a) 2 (b)3 (c)4 (d)5
22 | Given below is the graph representing two linear equations by lines AB and CD |1

respectively. What is the area of the triangle formed by these two lines and the line x=07?
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H 4 4 1 +

|5 e = >
N il L —10/ 73K

3 4 - H

1 D} i

|

! J Y'.
(a) 3sg. units (b) 4sg. units (c) 6sq. units (d) 8sq. units
23 | Iftan o + cot a = 2, then tan®%a + cot®®o, =
@~o (b) 2 (c) 20 (d) 220
24 If 217x + 131y = 913, 131x + 217y = 827, then x + y is
(@5 (b) 6 ()7 (d) 8
25 The LCM of two prime numbers p and g (p > q) is 221. Find the value of 3p —q.
(@) 4 (b) 28 (c) 38 (d) 48
26 | Acard is drawn from a well shuffled deck of cards. What is the probability that the
card drawn is neither a king nor a queen?
(a) 11/13 (b) 12/13 (c) 11/26 (d) 11/52
27 | Two fair dice are rolled simultaneously. The probability that 5 will come up at least
once is
(a) 5/36 (b) 11/36 (c) 12/36 (d) 23/36
28 If 1+ sino = 3 sina cosa, then values of cot o are
@-1,1 (b) 0,1 (1,2 (d)-1,-1
29 | The vertices of a parallelogram in order are A(1,2), B(4,y), C(x, 6) and D(3,5). Then
(X y) is
(a) (6, 3) (b) (3, 6) (c) (5, 6) (d) (1, 4)
30 | Inthe given figure, ZACB = 2CDA, AC = 8cm, AD = 3cm, then BD is
8c
3cm D B
(a) 22/3 cm (b) 26/3 cm (c) 55/3 cm (d) 64/3cm
31 | The equation of the perpendicular bisector of line segment joining points A(4,5) and

B(-2,3) is
(a) 2x — y +7=0 (b)3x+2y-7=0 (c)3x-y—-7=0  (d)3x+y-7=0
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32

In the given figure, D is the mid-point of BC, then the value of % IS

C D B
(@) 2 (b) 1/2 (€) 1/3 (d) 1/4

1

33

The smallest number by which 1/13 should be multiplied so that its decimal expansion
terminates after two decimal places is

(2) 13/100 (b) 13/10 (c) 10/13 (d) 100/13

34

Sides AB and BE of a right triangle, right angled at B are of lengths 16 cm and 8 cm
respectively. The length of the side of largest square FDGB that can be inscribed in the
triangle ABE is

16cm
F

L

| +
B «—38cm —F

(a) 32/3cm (b) 16/3cm (c)8/3cm (d) 4/3cm

35

Point P divides the line segment joining R(-1, 3) and S(9,8) in ratio k:1. If P lies on the
line x —y +2=0, then value of k is

(@) 2/3 (b) 1/2 (€) 1/3 (d) 1/4

36

In the figure given below, ABCD is a square of side 14 cm with E, F, G and H as the mid
points of sides AB, BC, CD and DA respectively. The area of the shaded portion is

E

A B

T

G

(a) 44cm? (b) 49 cm? (c) 98 cm? (d) 497/2 cny?

37

Given below is the picture of the Olympic rings made by taking five congruent circles
of radius 1cm each, intersecting in such a way that the chord formed by joining the
point of intersection of two circles is also of length 1cm. Total area of all the dotted
regions assuming the thickness of the rings to be negligible is
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() 4(/12-V3/4) cm?2  (b) (/6 - \N3/4) cm?  (c) 4(n/6 - N3/4) cm2  (d) 8(n/6 - \3/4) ¢

38 | If2and Y are the zeros of px2+5x+r, then
@p=r=2 (b)yp=r=-2 ©p=2r=-2 dp=-2,r=2
39 | The circumference of a circle is 100 cm. The side of a square inscribed in the circle is
(a) 5072 cm (b) 100/x cm (c) 50N2/mcm (d) 100V2/r cm
40 | The number of solutions of 3**Y= 243 and 243Y=3is
@~o (b) 1 (c) 2 (d) infinite
SECTIONC
Case study based questions:
Section C consists of 10 questions of 1 mark each. Any 8 questions are to be
attempted.
Q41-Q45 are based on Case Study -1
Case Study -1
The figure given alongside shows the path of a
diver, when she takes a jump from the diving
board. Clearly it is a parabola.
Annie was standing on a diving board, 48 feet
above the water level. She took a dive into the
pool. Her height (in feet) above the water level at
any time‘t’ in seconds is given by the polynomial
h(t) such that
h(t) =-16t2 + 8t + k.
41 | What is the value of k?
(@0
(b) - 48
(c) 48
(d) 48/-16
42 | At what time will she touch the water in the pool?

(a) 30 seconds
(b) 2 seconds

(c) 1.5 seconds
(d) 0.5 seconds
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43

Rita’s height (in feet) above the water level is given by another polynomial p(t) with
zeroes -1 and 2. Then p(t) is given by-

(@) t2+t-2.

(b) 2+2t-1

(c) 2412 - 24t + 48.

(d) -24t2 + 24t + 48.

1

44

A polynomial g(t) with sum of zeroes as 1 and the product as -6 is modelling Anu’s
height in feet above the water at any time t( in seconds). Then q(t) is given by

(@ 2+t+6

(b) 2+1t-6

(c) -8tz + 8t + 48

(d) 8t2- 8t + 48

45

The zeroes of the polynomial r(t) = -12t2 + (k-3)t +48 are negative of each other. Then
kis

@ 3

(b) O

(c) -1.5

(d) -3

Q46-Q50 are based on Case Study -2
Case Study -2
A hockey field is the playing surface for the game of hockey. Historically, the game was played on
natural turf (grass) but nowadays it is predominantly played on an artificial turf.
It is rectangular in shape - 100 yards by 60 yards. Goals consist of two upright posts placed
equidistant from the centre of the backline, joined at the top by a horizontal crossbar. The inner
edges of the posts must be 3.66 metres (4 yards) apart, and the lower edge of the crossbar must be
2.14 metres (7 feet) above the ground.

Each team plays with 11 players on the field during the game including the goalie.
Positions you might play include-

o Forward: Asshown by players A, B, C and D.
« Midfielders: As shown by players E, F and G.
o Fullbacks: As shown by players H, 1 and J.

o Goalie: As shown by player K
Using the picture of a hockey field below, answer the questions that follow:
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46

The coordinates of the centroid of AEHJ are
@) (-2/3,1)
(b) (1,-2/3)
(c) (2/3,2)
(d) (-2/3,-1)

1

47

If a player P needs to be at equal distances from A and G, such that A, P and G are in
straight line, then position of P will be given by

(@) (-3/2,2)

(b) (2,-3/2)

(©) (2,3/2)

(@ (-2,-3)

48

The point on x axis equidistant from | and E is
(@) (1/2,0)
(b) (0,-1/2)
(c) (-1/2,0)
(d) (0,1/2)

49

What are the coordinates of the position of a player Q such that his distance from K is
twice his distance from E and K, Q and E are collinear?

(a) (1,0)

(b) (0,1)

() (-2.1)

(d) (-1,0)

50

The point on y axis equidistant from B and C is
(@) (-1,0)
(b) (0.-1)
(¢) (1,0
@ (0,1)
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Sample Question Paper
Mathematics- Basic (241)
Class- X, Session: 2021-22
TERM I

General Instructions:

1.
2.

3.

4.

The question paper consists of 14 questions divided into 3 sections A, B, C.

Maximum Marks: 40

Section A comprises of 6 questions of 2 marks each. Internal choice has been provided in

two questions.

Section B comprises of 4questions of 3 marks each. Internal choice has been provided in

one question.

Section C comprises of 4 questions of 4 marks each. An internal choice has been provided

in one question. It contains two case study based questions.

SECTION A

Q.No.

MARKS

Find the roots of the quadratic equation 3x? — 7x — 6 = 0.

OR
Find the values of k for which the quadratic equation 3x? + kx + 3 = 0 has real and
equal roots.

Three cubes each of volume 64cm? are joined end to end to form a cuboid. Find the
total surface area of the cuboid so formed?

An inter house cricket match was organized by a school. Distribution of runs made
by the students is given below. Find the median runs scored.
Runs 0-20 | 20-40 40-60 60-80 80-100
scored

Number of | 4 6 5 3 4
students

Find the common difference of the AP 4,9,14,... If the first term changes to 6 and
the common difference remains the same then write the new AP.

The mode of the following frequency distribution is 38. Find the value of x.
Class 0-10 | 10-20 |20-30 | 30-40 |40-50 | 50-60 | 60-70
Interval

Frequency | 7 9 12 16 X 6 11

XY and MN are the tangents drawn at the end points of the diameter DE of the circle
with centre O. Prove that XY || MN. X D Y

\ 4

A
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OR

In the given figure, a circle is inscribed in the quadrilateral ABCD. Given AB=6cm,
BC=7cm and CD=4cm. Find AD.

D C

\

\

B

Section-B

An AP 5, 8, 11...has 40 terms. Find the last term. Also find the sum of the last 10
terms.

A tree is broken due to the storm in such a way that the top of the tree touches the
ground and makes an angle of 30° with the ground. Length of the broken upper part
of the tree is 8 meters. Find the height of the tree before it was broken.

OR

Two poles of equal height are standing opposite each other on either side of the
road 80m wide. From a point between them on the road the angles of elevation of

the top of the two poles are respectively 60° and 30°. Find the distance of the point
from the two poles.

PA and PB are the tangents drawn to a circle with centre O. If PA= 6 cm and
Z APB=60°, then find the length of the chord AB.

0. p

B

10

The sum of the squares of three positive numbers that are consecutive multiples of
5is 725. Find the three numbers.

Section-C

11

Construct two concentric circles of radii 3cm and 7cm. Draw two tangents to the
smaller circle from a point P which lies on the bigger circle.
OR

Draw a pair of tangents to a circle of radius 6cm which are inclined to each other at
an angle of 60°. Also find the length of the tangent.




Re-uploaded at Learnmate

12

The following age wise chart of 300 passengers flying from Delhi to Pune is
repared by the Airlines staff.

Age Less | Less | Less | Less | Less | Less | Less | Less
than | than | than | than | than | than | than | than
10 20 30 40 50 60 70 80

Number of | 14 44 82 134 | 184 | 245 | 287 | 300
passengers

Find the mean age of the passengers.

4

13

A lighthouse is a tall tower with light near the top. These are often built on islands,
coasts or on cliffs. Lighthouses on water surface act as a navigational aid to the
mariners and send warning to boats and ships for dangers. Initially wood, coal would
be used as illuminators. Gradually it was replaced by candles, lanterns, electric lights.
Nowadays they are run by machines and remote monitoring.

Prongs Reef lighthouse of Mumbai was constructed in 1874-75. It is approximately
40 meters high and its beam can be seen at a distance of 30 kilometres. A ship and
a boat are coming towards the lighthouse from opposite directions. Angles of
depression of flash light from the lighthouse to the boat and the ship are 30° and 60°
respectively.

) Which of the two, boat or the ship is nearer to the light house. Find its
distance from the lighthouse?

i) Find the time taken by the boat to reach the light house if it is moving at
the rate of 20 km per hour.

14

Krishnanagar is a small town in Nadia District of West Bengal. Krishnanagar clay
dolls are unique in their realism and quality of their finish. They are created by
modelling coils of clay over a metal frame. The figures are painted in natural colours
and their hair is made either by sheep’s wool or jute. Artisans make models starting
from fruits, animals, God, goddess, farmer, fisherman, weavers to Donald Duck and
present comic characters. These creations are displayed in different national and
international museums.
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Here are a few images (not to scale) of some clay dolls of Krishnanagar.
.

Doll-1 Doll-2 Doll-4

The ratio of diameters of red spherical apples in Doll-1 to that of spherical
oranges in Doll-2 is 2:3. In Doll-3, male doll of blue colour has cylindrical body and
a spherical head. The spherical head touches the cylindrical body. The radius of
both the spherical head and the cylindrical body is 3cm and the height of the

cylindrical body is 8cm. Based on the above information answer the following
guestions:

i) What is the ratio of the surface areas of red spherical apples in
Doll-1 to that of spherical oranges in Doll-2.?

i) The blue doll of Doll-3 is melted and its clay is used to make the
cylindrical drum of Doll-4. If the radius of the drum is also 3cm,
find the height of the drum.
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Sample Question Paper
Mathematics- Standard (041)
Class- X, Session: 2021-22

TERM I
Time Allowed: 2 hours Maximum Marks: 40
General Instructions:
1. The question paper consists of 14 questions divided into 3 sections A, B, C.
2. All questions are compulsory.
3. Section A comprises of 6 questions of 2 marks each. Internal choice has been provided in
two questions.
4. Section B comprises of 4questions of 3 marks each. Internal choice has been provided in
one question.
5. Section C comprises of 4 questions of 4 marks each. An internal choice has been provided

in one question. It contains two case study based questions.

Section A

Q No Marks

1 Find the value of azs - ais for the AP: 6,9, 12,15, ........... 2
OR

If 7 times the seventh term of the AP is equal to 5 times the fifth term, then

find the value of its 12" term.

2 Find the value of m so that the quadratic equation mx(5x — 6) = 0 has two 2
equal roots.
3 From a point P, two tangents PA and PB are drawn to a circle C(O, r). 2

If OP = 2r, then find LAPB. What type of triangle is APB?

r
2r S
P @)
B
4 The curved surface area of a right circular cone is 12320 cm?. If the radius of its 2
base is 56cm, then find its height.
5 Mrs. Garg recorded the marks obtained by her students in the following table. 2

She calculated the modal marks of the students of the class as 45. While
printing the data, a blank was left. Find the missing frequency in the table given
below

Marks

Obtained 0-20 20 - 40 40 - 60 60 - 80 80 - 100
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Number of
Students > 10 6 3
6 If Ritu were younger by 5 years than what she really is, then the square of her
age would have been 11 more than five times her present age. What is her
present age?
OR
Solve for x: 9x? - 6px + (p?-9») =0
Section-B
7 Following is the distribution of the long jump competition in which 250 students
participated. Find the median distance jumped by the students. Interpret the
median
Distance
_ 0-1 1-2 2-3 3-4 4-5
(in m)
Number of
Students 40 80 62 38 30
8 Construct a pair of tangents to a circle of radius 4cm, which are inclined to
each other at an angle of 60°.
9 The distribution given below shows the runs scored by batsmen in one-day
cricket matches. Find the mean number of runs.
Runs 0-40 | 40-80 | 80-120 | 120-160 | 160 - 200
scored
Numberof} ., 20 35 30 23
batsmen
10 Two vertical poles of different heights are standing 20m away from each other
on the level ground. The angle of elevation of the top of the first pole from the
foot of the second pole is 60° and angle of elevation of the top of the second
pole from the foot of the first pole is 30°. Find the difference between the heights
of two poles. (Take V3 = 1.73)
OR
A boy 1.7 m tall is standing on a horizontal ground, 50 m away from a building.
The angle of elevation of the top of the building from his eye is 60°. Calculate
the height of the building. (Take V3 = 1.73)
Section-C
11 The internal and external radii of a spherical shell are 3cm and 5cm

respectively. It is melted and recast into a solid cylinder of diameter 14cm, find
the height of the cylinder. Also find the total surface area of the cylinder.

(Take 7 = 2
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12

Prove that the angle between the two tangents drawn from an external point to
a circle is supplementary to the angle subtended by the line segment joining the
points of contact to the centre.

OR

Two tangents TP and TQ are drawn to a circle with centre O from an external

point T. Prove that £PTQ = 240PQ
P g

4

13

Case Study-1

Trigonometry in the form of triangulation forms the basis of navigation, whether
it is by land, sea or air. GPS a radio navigation system helps to locate our
position on earth with the help of satellites.

A guard, stationed at the top of a 240m tower, observed an unidentified boat
coming towards it. A clinometer or inclinometer is an instrument used for
measuring angles or slopes(tilt). The guard used the clinometer to measure the
angle of depression of the boat coming towards the lighthouse and found it to
be 30°.

(Lighthouse of Mumbai Harbour. Picture credits - Times of India Travel)

i) Make a labelled figure on the basis of the given information and calculate
the distance of the boat from the foot of the observation tower.

ii) After 10 minutes, the guard observed that the boat was approaching the
tower and its distance from tower is reduced by 240(v¥3 - 1) m. He
immediately raised the alarm. What was the new angle of depression of
the boat from the top of the observation tower?

14

Case Study-2

Push-ups are a fast and effective exercise for building strength. These are
helpful in almost all sports including athletics. While the push-up primarily
targets the muscles of the chest, arms, and shoulders, support required from
other muscles helps in toning up the whole body.

Py egr=
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Nitesh wants to participate in the push-up challenge. He can currently make
3000 push-ups in one hour. But he wants to achieve a target of 3900 push-ups
in 1 hour for which he practices regularly. With each day of practice, he is able
to make 5 more push-ups in one hour as compared to the previous day. If on
first day of practice he makes 3000 push-ups and continues to practice regularly
till his target is achieved. Keeping the above situation in mind answer the
following questions:

i) Form an A.P representing the number of push-ups per day and hence | 2
find the minimum number of days he needs to practice before the day
his goal is accomplished?

i) Find the total number of push-ups performed by Nitesh up to the day his
goal is achieved.




